Question Paper Name :
Subject Name :
Creation Date :
Duration :

Total Marks :

Display Marks:

Share Answer Key With Delivery Engine :

Actual Answer Key :

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

National Testing Agency

40 Spanish 24th Sep 2020 Shift 1 Set 1
40 Spanish

2020-09-24 17:44:28

180

300

Yes

Yes

Yes

40 Spanish

1
710870108
0

180

No

No

0

300

No

PART I General Aptitude

710870293
1
Online

Mandatory
42



Number of Questions to be attempted : 42

Section Marks : 100
Display Number Panel : Yes
Group All Questions : Yes

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870469
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 71087013887 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which level of teaching, the learner gets an opportunity to discriminate at length between
positive and negative exemplars of concepts?

1. Memory level

2. Understanding level

3. Reflective level

4. Autonomous development level
Options :

71087055081. 1

71087055082. 2

71087055083. 3

71087055084. 4

Question Number : 1 Question Id : 71087013887 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087055081. 1
71087055082. 2
71087055083 3
71087055084 4

Question Number : 2 Question Id : 71087013888 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
During teaching, a teacher's statements that encourage students to elaborate on an answer,
either their own or that of others will be called,

1. Structuring

2. Instructional variety

3. Engagement in the learning process
4. Probing

Options :

71087055085. 1

71087055086. 2

71087055087. 3

71087055088. 4

Question Number : 2 Question Id : 71087013888 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087055085. 1
71087055086. 2
71087055087. 3
71087055088. 4

Question Number : 3 Question Id : 71087013889 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following will be called behavioural rather than “attitude and beliefs" related
competencies for becoming an effective teacher?

A. Locus of control

B. Communicating

C. Managing and monitoring

D. Teacher enthusiasm

E. Evaluating and providing feedback

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3. B, Cand E only
4.C, D and E only
Options :
71087055089. 1
71087055090. 2
71087055091. 3
71087055092. 4

Question Number : 3 Question Id : 71087013889 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. HAAA, B 3R C
2. @A B, C3RD
3. ®adB, CARE
4.HIAC, D ARE
Options :
71087055089. 1
71087055090. 2
71087055091 3
71087055092. 4

Question Number : 4 Question Id : 71087013890 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



From the following list of methods of teaching used in institutions of higher learning, identify

those which are learner-centred

A. Project work

B. Chalk and talk

C. Lecturing with audio-visual

D. Computer-aided instruction

E. Simulation and role-playing

Choose the correct answer from the options given below:

1. B, C and D only
2. D and E only

3. A, Band Conly
4.C, D and E only
Options :
71087055093. 1
71087055094. 2
71087055095. 3
71087055096. 4

Question Number : 4 Question Id : 71087013890 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087055093 1
71087055094. 2
71087055095 3
71087055096. 4

Question Number : 5 Question Id : 71087013891 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

, : l. Percentile rank and standard scores are used
A. Formative Evaluation .
for reporting

B. Summative Evaluation |l. Standards indicative of mastery

C. Criterion-referenced test lll. The intention of using it is to identify scope
and potential for improvement

D. Norm-referenced test IV. Its intention is to judge learning standards

Choose the correct answer from the options given below:

TA-NLB-IV,C-1I,D-1
ZA-1L,B-1L,C-11,D-1IV
3A-ILB-1L,C-1V,D-1I
4 A-IV,B-1I, C-1,D-1
Options :

71087055097. 1
71087055098. 2
71087055099. 3
71087055100. 4

Question Number : 5 Question Id : 71087013891 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. A-lll, B-1V, C-1I, D-I
2. A-l, B-II, C-1II, D-1V
3. A-ll, B-I, C-IV, D-1I
4. A-IV, B-lI, C-1, D-II
Options :
71087055097. 1
71087055098. 2
71087055099. 3
71087055100. 4

Question Number : 6 Question Id : 71087013892 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In using the hypothetico-deductive research paradigm which of the following sequences is
considered appropriate?

1. Hypothesis making, Hypothesis testing, Arriving at generalization and Conclusion

2. Establishing a research problem, Hypothesis making, Hypothesis testing, Arriving at
generalization and Conclusion

3. Hypothesis making, Establishing a research problem, Hypothesis testing, Arriving at
generalization and Conclusion

4. Hypothesis testing, Hypothesis making, Finalizing the research problem, Arriving at
generalization and Conclusion

Options :

71087055101. 1
71087055102. 2
71087055103. 3
71087055104. 4

Question Number : 6 Question Id : 71087013892 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087055101. 1

71087055102. 2




71087055103. 3
71087055104. 4

Question Number : 7 Question Id : 71087013893 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following research procedures will figure under post positivistic approach?

1. Normative survey
2. Experimental study
3. Ethnographic study
4. Ex post facto study
Options :
71087055105. 1
71087055106. 2
71087055107. 3
71087055108. 4

Question Number : 7 Question Id : 71087013893 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087055105. 1
71087055106. 2
71087055107. 3
71087055108. 4



Question Number : 8 Question Id : 71087013894 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A college teacher plans a research programme in which he/she intends to improve the socio-
emotional aspect of his/her classroom climate during teaching. Which one of the following
research methods will be considered appropriate in this context?

1. Experimental method

2. Descriptive method

3. Historical method

4. Action research method
Options :

71087055109. 1
71087055110. 2
71087055111. 3
71087055112. 4

Question Number : 8 Question Id : 71087013894 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087055109. 1
71087055110. 2



71087055111. 3
71087055112. 4

Question Number : 9 Question Id : 71087013895 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following steps in research are least vulnerable to research ethics?
A Identifying the research variables

B. Defining the research variables

C. Data collection procedure

D. Data analysis procedure

E. Reporting research outcomes

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. D and E only
Options :
71087055113. 1
71087055114. 2
71087055115. 3
71087055116. 4

Question Number : 9 Question Id : 71087013895 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087055113, 1
71087055114. 2
71087055115. 3
71087055116. 4

Question Number : 10 Question Id : 71087013896 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The personalistic styles of writing a research report are permissible in which of the following
research?

A. Grounded theory research

B. Experimental research

C. Participant-observation based research

D. Historical research

E. Case study research

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.C, D and E only
4. A, Cand E only
Options :
71087055117. 1
71087055118. 2
71087055119. 3
71087055120. 4

Question Number : 10 Question Id : 71087013896 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Bad A, B 3R C
2. Pad B, C 3R D
3. AU C, D 3R E
4, BT A, C 3R E
Options :
71087055117, 1
71087055118. 2
71087055119. 3
71087055120. 4

Sub-Section Number : 2
Sub-Section Id : 710870470
Question Shuffling Allowed : Yes

Question Id : 71087013897 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension



Read the passage carefully and answer the questions that follow

More generally, today's business-to-business marketers are using a wide range of digital and
social marketing approaches from websites, blogs, and smartphone apps to mainstream social
networks such as Facebook, Linkedln, Youtube, and Twitter to reach business customers and
manage customer relationships anywhere, anytime. Digital and social marketing has rapidly
become the new space for engaging business customers. Business-to-business e-procurement
yields many benefits. First, it shaves transaction costs and results in more efficient purchasing
for both buyers and suppliers. E-procurement reduces the time between order and delivery.
And a Web-powered purchasing program eliminates the paperwork associated with traditional
requisition and ordering procedures and helps an organization keep better track of all
purchases. Finally, beyond the cost and time savings, e-procurement frees purchasing people
from a lot of drudgery and paperwork. In turn, it frees them to focus on more strategic issues,
such as finding better supply sources and working with suppliers to reduce costs and develop
new products.

The rapidly expanding use of e-procurement, however, also presents some problems. For
example, at the same time that the Internet makes it possible for suppliers and customers to
share business data and even collaborate on product design, it can also erode decades-old
customer-supplier relationships. Many buyers now use the power of the Internet to pit
suppliers against one another and search out better deals, products, and turnaround times on
a purchase-by-purchase basis.

E-procurement can also create potential security concerns. Although home shopping
transactions can be protected through basic encryption, the secure environment that
businesses need to carry out confidential interactions is sometimes still lacking.

Sub questions

Question Number : 11 Question Id : 71087013898 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

What is the current strategy of business to business managers?

1. Searching for new business space

2. Exploring new customer relations

3. Less dependence on social marketing
4. More and more use of digital business
Options :

71087055121. 1

71087055122. 2

71087055123. 3

71087055124. 4

Question Number : 12 Question Id : 71087013899 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The benefits of e-procurement are

A. Cost reduction

B. Quick delivery

C. Longer time for strategic procurement

D. Empathetic purchase

Choose the correct answer from the options given below:

1. A and B only
2. B and C only
3.Cand D only
4. A and D only
Options :
71087055125. 1



71087055126. 2
71087055127. 3
71087055128. 4

Question Number : 13 Question Id : 71087013900 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What can be a strategic issue as a result of less paperwork?

1. Transaction analysis

2. More investment for supply

3. Development of new products

4. Importance to traditional customer relation
Options :

71087055129. 1

71087055130. 2

71087055131. 3

71087055132. 4

Question Number : 14 Question Id : 71087013901 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What can be the main issue with e-procurement vis-a-vis power of Internet?

1. Different purchases for both buyers and suppliers
2. Sharing business data with customers

3. Competitive supply of products

4. Better purchase deals

Options :

71087055133. 1

71087055134. 2

71087055135.3

71087055136. 4



Question Number : 15 Question Id : 71087013902 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The focus of the passage is on

1. The power of suppliers

2. Basic business data encryption

3. The supply side of business

4. The critical features of e-procurement
Options :

71087055137. 1

71087055138. 2

71087055139. 3

71087055140. 4

Question Id : 71087013897 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension
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Sub questions

Question Number : 11 Question Id : 71087013898 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087055121. 1

71087055122. 2

71087055123. 3

71087055124. 4

Question Number : 12 Question Id : 71087013899 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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3. ®dd C 3R D
4. HadA AR D
Options :
71087055125. 1
71087055126 2




71087055127. 3
71087055128. 4

Question Number : 13 Question Id : 71087013900 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087055129. 1

71087055130. 2

71087055131. 3

71087055132. 4

Question Number : 14 Question Id : 71087013901 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087055133. 1

71087055134, 2

71087055135, 3

71087055136. 4




Question Number : 15 Question Id : 71087013902 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087055137. 1

71087055138. 2

71087055139. 3

71087055140. 4

Sub-Section Number : 3
Sub-Section Id : 710870471
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 71087013903 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In communication process, when the sender and the receiver interchange their roles in respect
of sending and receiving the message, it is called

1. Universal model

2. Transactional model
3. Singular-flow model
4, Pluralistic model
Options :

71087055141. 1
71087055142. 2
71087055143. 3



71087055144. 4

Question Number : 16 Question Id : 71087013903 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
71087055141. 1
71087055142. 2
71087055143. 3
71087055144, 4

Question Number : 17 Question Id : 71087013904 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A teacher who encourages students’ participation in communication will ensure
A. Opposite views

B. Self-esteem

C. Class performance

D. Professional development

E. Binary distractions

Choose the correct answer from the options given below:

1. A, B and C only
2. A, CandE only
3.B,Cand D only
4. A, Dand E only
Options :
71087055145. 1
71087055146. 2
71087055147. 3
71087055148. 4

Question Number : 17 Question Id : 71087013904 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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4. HAAA, D ARE
Options :
71087055145, 1
71087055146. 2
71087055147, 3
71087055148. 4

Question Number : 18 Question Id : 71087013905 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: In group discussions, some participants enter the fray with big chips on their
shoulders

Reason R: These are antagonistic people who are calm and listed

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087055149. 1

71087055150. 2

71087055151. 3

71087055152 4

Question Number : 18 Question Id : 71087013905 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I & Py U TE B - U 1 3ifHiape (A) 3R G @1 b (R) P61 I ;
HYDHYA (A) : FHE Td1 H $S UgHFN I3 - gt dld dRd & |

dd (R) : T it @0 81d & =il 2Mid SR ufaarg! 8id &

SUYdd Bl B el H Fgiied [deedl H U Halfte Juged S 94 -

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) ¥R (R) GHI T8I B &R (R), (A) DI Tl SREAT 6l 3|
3. (A) 9BI 8 U (R) el &l B

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

71087055149. 1

71087055150. 2

71087055151. 3

71087055152. 4

Question Number : 19 Question Id : 71087013906 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List 11

Communication Barrier Description

A, Physical |. Different understanding
B. Psychological Il. Stereotypes

C. Language lll. Pre-disposed notions
D. Cultural IV. Inaudible voice

Choose the correct answer from the options given below:

TA-IV,E-N,C-1,D-I
2ZA-ILB-IL,C-1V,D-1
SA-ILB-1L,C-NILD-1V
4A-LB-ILC-1ILD-1V
Options :

71087055153. 1
71087055154. 2
71087055155. 3
71087055156. 4

Question Number : 19 Question Id : 71087013906 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gali-1 Dl Fali-11 & oy GAferd o :

gal-| ql-1i

GO ST ICERI

A. RIS REGUEEE]

B. HHIGTI® 1. Tfcag YR
C. HTST Gadi 11. Id Wgd 4RO
D. HiEhidd V. 3T HTdTS
I feu U fashedl © O gel 3R &1 98- & -

1. A-1V, B-1ll, C-1, D-I
2. AL B-1I, C-1V, D-I
3. A-ll, B-1, C-lII, D-1V
4. A-l, B-lI, C-lI, D-1V
Options :
71087055153. 1
71087055154. 2
71087055155. 3
71087055156. 4

Question Number : 20 Question Id : 71087013907 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



When communication for educational purpose takes place, the sequence of elements is
A. Source

B. Encoder

C. Message

D. Decoder

E. Feedback

Choose the correct answer from the options given below

1.A B CD,E
2B CDEA
3.CD,EAB
4.D,E B A C
Options :

71087055157. 1
71087055158. 2
71087055159. 3
71087055160. 4

Question Number : 20 Question Id : 71087013907 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



e Q&MU TS g WHINYI BIdT § ol U<l Bl HHBIAI 8 :
A, Fid

B. B¢ qifad

C. T

D. fadis®

£ Bigad®

i f&u U faeedl # @ Uel I &1 98- B -

1.A,B,C,D3RE
2.B,C D, E3RA
3.C, D, E A3JRB
4.D,E B, A3RC
Options :
71087055157 1
71087055158. 2
71087055159. 3
71087055160. 4

Question Number : 21 Question Id : 71087013908 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



A man walks at a speed of 3 km/hour from location A towards east for 1 hour and then turning
left walks at a speed of 1.5 km/hour for 6 hours towards north to a location B. The shortest
distance between locations A and B is

1. 10 km

2. 12 km

3. ~8.54 km
4, ~9.48 km
Options :
71087055161. 1
71087055162. 2
71087055163. 3
71087055164. 4

Question Number : 21 Question Id : 71087013908 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ueh oHfekd I A 9 3 T 9e1 71fd O qRa = # 1 9¢ qob doidl & 99l 39 d1g a1 S 1.5
b 51,/ g1 &1 71 Y IR G2 DI 3R 6 e T ™M B b daidl &1 ®H A 3R B & did i
FaH g & -

1. 10 T Al

2. 12 fp .
3.~ 854 fhdl
4. ~ 9.48 fp oI,
Options :
71087055161. 1
71087055162. 2
71087055163. 3
71087055164. 4

Question Number : 22 Question Id : 71087013909 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The volume of a cube of side 10.0 cm is changed by increasing its sides by 1.0%. The
percentage increase in the volume of the cube is

1. ~1%
2. ~6%
3.~3%
4. ~ 10 %
Options :

71087055165. 1
71087055166. 2
71087055167. 3
71087055168. 4

Question Number : 22 Question Id : 71087013909 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

10.0 AT BT YT dIci U U B G ST Y3 bl 1.0 % ToIdhR dad ol oldl o | 39 9

© gd- | ula=d 3fs g -
1. ~1%
2.~ 6%
3.~3%
4. ~10%
Options :

71087055165. 1
71087055166. 2
71087055167. 3
71087055168. 4



Question Number : 23 Question Id : 71087013910 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Consider the following number series 2, 10, 30, 68, X

What is the term X7

1. 130

2. .92

3.88

4.76

Options :
71087055169. 1
71087055170. 2
71087055171. 3
71087055172. 4

Question Number : 23 Question Id : 71087013910 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ofafag den o1 ) fGaR &
210, 30, 68, X
X @1 HH TR 2

1. 130

2.92

3.88

4.76

Options :
71087055169. 1
71087055170. 2



71087055171. 3
71087055172. 4

Question Number : 24 Question Id : 71087013911 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A household Incurs a certain expenditure on the consumption of a commodity in a given
month. If the price of the commodity is decreased by 20% and its consumption is increased by
20%, what will be the net percent increase or decrease in the expenditure of the household?

1. 2%

2. 4%

3. 8%

4. 10%
Options :
71087055173. 1
71087055174. 2
71087055175.3
71087055176. 4

Question Number : 24 Question Id : 71087013911 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

U3 URAR Us A8 99N H U% a%g & SUaRT IR &idud o0 &l | 3fc 39 a%g @1 H1Ad 20%
T WAl & AR d%] ®I UGN 20% d¢ Idl & df 39 URaR & &g ¥ fova- ufa=id &1 sglall
Gl HH| 8T 7

1. 2%

2. 4%

3. 8%

4. 10%
Options :



71087055173. 1
71087055174. 2
71087055175. 3
71087055176. 4

Question Number : 25 Question Id : 71087013912 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Consider the following letter series. What is next of acf, egj, ikn, ogt,

1. suy

2. uvy

3. rwz

4 uwz
Options :
71087055177. 1
71087055178. 2
71087055179. 3
71087055180. 4

Question Number : 25 Question Id : 71087013912 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fafaRad quf #49 R 3gR SIS ATy @ g 2

acf, eqi, ikn, oqt, ___

1. suy

2. uvy

3. rwz

4 uwz
Options :
71087055177. 1



71087055178. 2
71087055179. 3
71087055180. 4

Question Number : 26 Question Id : 71087013913 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two propositions:

All philosophers are fallible

Socrates is not fallible

In the classical square of opposition, which one of the following is the correct answer?

1. Contrary

2. Contradictory
3. Subalteration
4. Subcontrary
Options :
71087055181. 1
71087055182. 2
71087055183. 3
71087055184. 4

Question Number : 26 Question Id : 71087013913 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



e &l a arg fau MU B -

ot erife waRia B & |

YT YA Tl g |

foTy & Fenfa®! avt § Fufafed 3 3 oH-91 98 W B

1. e

2. faemyTt
3. 3UIfsd

4. 3u-fazreh
Options :
71087055181. 1
71087055182. 2
71087055183. 3
71087055184. 4

Question Number : 27 Question Id : 71087013914 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below is a proposition:
‘Mahatma Gandhi is called father of Nation'.
What kind of classical categorical proposition is it?

1. Universal affirmative
2. Particular affirmative
3.Both 1 and 2

4. Neither 1 nor 2
Options :

71087055185. 1



71087055186. 2
71087055187. 3
71087055188. 4

Question Number : 27 Question Id : 71087013914 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Il U ddare fea T g ;

 HETH i B AP el S B

7% Fofated & § oy IR &1 aenfas! FRUg ahare § 2

1. gray iy fGerd®

2. fafey faurars

3.1 3R 2 gH

4.1 3R 2 A Ple o T8
Options :

71087055185. 1
71087055186. 2
71087055187. 3
71087055188. 4

Question Number : 28 Question Id : 71087013915 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following pramanas are accepted by Vaisheshika philosophy?
A. Pratyasha

B. Anumana

C. Sabda

D. Upamana

E. Arthapatti

F. Anupalabdhi

Choose the correct answer from the options given below:

1. A and B only
2.Cand D only
3.Eand F only
4. Cand E only
Options :
71087055189. 1
71087055190. 2
71087055191. 3
71087055192. 4

Question Number : 28 Question Id : 71087013915 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



fFafeiad # 94 ®H-9 uA 9t o2F H WioR U e § 2

FafaRad & 9 98! SO &1 994 i :

1. &dd A 3R B
2. ®ad C R D
3. Bad E 3R F
4, HadC3RE
Options :
71087055189. 1
71087055190. 2
71087055191. 3
71087055192. 4

Question Number : 29 Question Id : 71087013916 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Which of the following are accepted in Buddhism?

A. Adhyasa

B. Apoha

C. Abhava

D. Arthapatti

E. Pratyaksha

F. Sabda

Choose the correct answer from the options given below:

1. A and B only
2.Cand D only
3.B and E only
4. E and F only
Options :
71087055193. 1
71087055194. 2
71087055195. 3
71087055196. 4

Question Number : 29 Question Id : 71087013916 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



dig 4 | FafaRed # 9 fo-1ol WieR fearwidaig 2

AL SETH

3. 3{UIE

C. 3{H1d

D. YUk

E. Ue

F. TMoG

FafeRad fasmedl # ¥ UE1 3Tk B I8 DI :

1. Had A 3R B
2. ®ad C 3R D
3. ®HaaB AR E
4 HAAE AR F
Options :
71087055193. 1
71087055194. 2
71087055195, 3
71087055196 4

Question Number : 30 Question Id : 71087013917 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



What is the nature of a logical argument? Choose the correct answer from the following:

1. Justified or unjustified

2. True or false

3. Valid or invalid

4, Verifiable or not verifiable

Options :

71087055197. 1
71087055198. 2
71087055199. 3
71087055200. 4

Question Number : 30 Question Id : 71087013917 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

dbETTd gida @1 UG &1 gldl ¢ 7 MaikiRgd & 9 981 3wk &1 984 Dy ;

1. "Oid 3R TR - AEid
2. TR g1 TTed

3. 39 41 33y

4, YUY 3HYdl G-
Options :

71087055197. 1
71087055198 2
71087055199. 3
71087055200. 4

Sub-Section Number : 4
Sub-Section Id : 710870472
Question Shuffling Allowed : Yes

Question Id : 71087013918 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension



Questions : No
Question Numbers : (31 to 35)
Question Label : Comprehension

Answer the question based on the data contained in the table

The following table embodies the data on vegetable produced year wise in tonne for a
particular district.

Year\Vegetable Potato Tomato Onion
2074 200 50 300
2015 500 70 200
2016 300 40 100
2017 100 80 400
2018 700 70 500
2019 800 a0 600

Sub questions

Question Number : 31 Question Id : 71087013919 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



In which year(s) the production of potato is less than that of average production?
A 2016

B. 2014

C. 2015

D. 2017

Choose the correct answer from the options given below

1. A and B only

2. A, B and D only
3. C only

4. Cand D only

Options :

71087055201. 1
71087055202. 2
71087055203. 3
71087055204. 4

Question Number : 32 Question Id : 71087013920 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which year(s) is the production of tomato the least?

1. 2014
2.2017
3. 2019
4. 2016
Options :



71087055205. 1
71087055206. 2
71087055207. 3
71087055208. 4

Question Number : 33 Question Id : 71087013921 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the gross production of vegetables in the year 20187

1. 1270

2. 1275

3. 1260

4. 1280
Options :
71087055209. 1
71087055210. 2
71087055211. 3
71087055212. 4

Question Number : 34 Question Id : 71087013922 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the increase (in percentage) of the total production of vegetable from the year 2018 to
20197

1. 15.7%
2. 16.1%
3. 19.4%
4, 17.2%
Options :
71087055213. 1
71087055214.2



71087055215. 3
71087055216. 4

Question Number : 35 Question Id : 71087013923 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In which year the productivity of vegetable is maximum?

1. 2018

2. 2016

3. 2019

4. 2017
Options :
71087055217. 1
71087055218. 2
71087055219. 3
71087055220. 4

Question Id : 71087013918 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehension



frrafafaa aiftre # fFt e fade & sanfea aferat 1t am @ &) S&<dt adfar siwer
fora mar &1 TfereT & U 7T o & SyYR WX uyi 3 Iy it

ay / el T AR B
2014 200 50 300
2015 500 70 200
2016 300 40 100
2017 100 80 400
2018 700 70 500
2019 200 20 &00

Sub questions

Question Number : 31 Question Id : 71087013919 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



forg qu / o1 aul H 1] BT IUTGA IHD G IdIe 8 BH a1 2
A, 2016
B. 2014
C. 2015

D. 2017
e fwea T

1. Had A 3R B
2. AU A, B, D
3. ®adC

4. Had C AR D
Options :
71087055201. 1
71087055202. 2
71087055203. 3
71087055204, 4

Question Number : 32 Question Id : 71087013920 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fg g THIEY & JdIe 998 BH 8 ?

1. 2014
22017
3.2019

4. 2016
Options :
71087055205. 1
71087055206. 2



71087055207. 3
71087055208. 4

Question Number : 33 Question Id : 71087013921 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
a4 2018 H Gieadl BT bd G [l g ?

1. 1270

2. 1275

3. 1260

4. 1280
Options :
71087055209. 1
71087055210. 2
71087055211. 3
71087055212. 4

Question Number : 34 Question Id : 71087013922 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
a9 2018 DI UM TY 2019 H Gleardl & Hal SdIGH H fbd- Widd 1 3fS g 2

1. 15.7 %
2.16.1 %
3.194 %
4.17.2 %
Options :
71087055213. 1
71087055214. 2
71087055215.3
71087055216. 4



Question Number : 35 Question Id : 71087013923 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frd ad & Heofl BT JAIGH I Halldd ¢ 2

1. 2018

2. 2016
3.2019

4. 2017
Options :
71087055217. 1
71087055218. 2
71087055219. 3
71087055220. 4

Sub-Section Number : 5
Sub-Section Id : 710870473
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 71087013924 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What is the full form of the abbreviation CD.ROM?

1. Count Disk Random Only Memory
2. Compact Disk Run Only Memory
3. Compact Disk Read Only Memory
4. Count Disk Raw Only Memory
Options :

71087055221. 1

71087055222.2

71087055223. 3

71087055224. 4



Question Number : 36 Question Id : 71087013924 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T&U1ER CD-ROM ST R AH F1 5 ?

1. Count Disk Random Only Memory
2. Compact Disk Run Only Memory
3. Compact Disk Read Only Memory
4. Count Disk Raw Only Memory
Options :

71087055221. 1

71087055222.2

71087055223. 3

71087055224. 4

Question Number : 37 Question Id : 71087013925 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Multimedia comprises of

1. Text and Audio

2. Video and Audio

3. Video only

4, Text, Audio and Video
Options :

71087055225. 1
71087055226. 2
71087055227. 3
71087055228. 4

Question Number : 37 Question Id : 71087013925 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0
A HIST H Ueh & -

1. SR 3R il

2. difegar 3R Aitsal

3. ®ad difsdl

4, de, Hifsal AR difsal
Options :

71087055225. 1
71087055226. 2
71087055227. 3
71087055228. 4

Question Number : 38 Question Id : 71087013926 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Information and Communication Technology (ICT) comprises of
A. Online learning

B. Learning through Mobile Application

C. Web based learning

D. All the above

Choose the correct answer from the options given below:

1. A and B only
2. A and C only
3. D only
4. A only
Options :



71087055229. 1
71087055230. 2
71087055231. 3
71087055232. 4

Question Number : 38 Question Id : 71087013926 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

G SR UaR et (og df &) H /ibe g -

A 3Hars A
5. AR HTHRH & J1ed U ey
C. aF YT R

D. Iudad it
el f[ddhed &1 999 Bl -

1. &dd A 3R B
2. Bad A 3R C
3. ®ad D

4, Had A
Options :
71087055229. 1
71087055230. 2
71087055231. 3
71087055232. 4

Question Number : 39 Question Id : 71087013927 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: E-commerce companies require personal data to serve the stakeholders better
Reason R: In this process, privacy may get compromised

In light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087055233. 1

71087055234. 2

71087055235. 3

71087055236. 4

Question Number : 39 Question Id : 71087013927 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



I &l By RU TN B : U@ @l i@y (a) SR GHR @I dd (R) Pl T & ;

HYDHYA (A) : 3-BIHY DU & RAURD] @I dgaR Tdl UaH B o Aiddid ol I oexd
Bl B

TP (R) : 59 Ufchal # Fodl ¥ THHIA $31 U8 98 dl o
IWdd dBYHT & et H Fgifdd fddel d ¥ affie 3ugdd 3w 9 -

1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) ¥R (R) GHI T8I B &R (R), (A) DI Tl SREAT 6l 3|
3. (A) 981 & TR (R) ¥ol T &

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

71087055233. 1

71087055234. 2

71087055235. 3

71087055236. 4

Question Number : 40 Question Id : 71087013928 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Python is a/an

A. Programming language

B. Operating system

C. Search engine

D. Snake

Choose the correct answer from the options given below:

1. B only

2. A only

3.B and C only
4. Cand D only
Options :
71087055237. 1
71087055238. 2
71087055239. 3
71087055240. 4

Question Number : 40 Question Id : 71087013928 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



‘Python’ T __ B
A. TR citder

B. ORI FoeA
C. 99 391
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1. 5 B
2. Had A
3. ®HaAAB AR C
4. %ad C AR D

Options :

71087055237. 1
71087055238. 2
71087055239. 3
71087055240. 4

Question Number : 41 Question Id : 71087013929 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Identify the correct sequence of continents in decreasing order of their yearly carbon dioxide
emissions, at present

A. Africa

B. Asia

C. Europe

D. North America

Choose the correct answer from the options given below

1.B,D A C
2B D CA
3.D,B,C A
4.D,C B A
Options :
71087055241.
71087055242.
71087055243.
71087055244.

AW O~

Question Number : 41 Question Id : 71087013929 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1.B,D A C
2B D CA
3.D,B,C A
4.D,C B A
Options :

71087055241.
71087055242.
71087055243.
71087055244.

AW O~

Question Number : 42 Question Id : 71087013930 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Millennium Development Goals of Global Partnership for Development envisaged making
available the benefits of new technologies - especially which of the following?

1. Information and Communication
2. Artificial Intelligence

3. Nuclear technology

4. Solid waste treatment technology
Options :

71087055245. 1

71087055246. 2

71087055247. 3

71087055248. 4

Question Number : 42 Question Id : 71087013930 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087055245. 1
71087055246. 2
71087055247. 3
71087055248. 4

Question Number : 43 Question Id : 71087013931 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



The global emissions (by weight) of following primary pollutants from natural sources are
maximum in the case of

1. Nitric oxide

2. Carbon monoxide
3. Methane

4, Carbon dioxide
Options :
71087055249. 1
71087055250. 2
71087055251. 3
71087055252. 4

Question Number : 43 Question Id : 71087013931 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Uipla® gl @ Fafifad § 3 feg mufie ughe o1 3fe SoeH (MR &1 2fF 9) Faffis g
87

1. ABCH SRS

2. e AFIFEES
3. HiUE

4, TE- SEHTES
Options :
71087055249. 1
71087055250. 2
71087055251. 3
71087055252. 4

Question Number : 44 Question Id : 71087013932 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List Il which contain water pollutants and their sources respectively

List | List 11

Water pollutants Sources

A. Oxygen demanding wastes |l. Mine drainage

Il. Modern washing powders and agriculture run-off
B. Plant nutrients

C. Acids lll. Waste incineration and toxic dumps

D. Polychlorinated
biphenyls(PCBs)

Choose the correct answer from the options given below:

IV. Paper mills and food processing units

TA-IV,E-U,C-1l,D-1
2ZA-IVB-LC-II,D-1
SA-IVB-ILC-1,D-1
4 A-IVB-IIILC-1,D-1
Options :

71087055253. 1
71087055254. 2
71087055255. 3
71087055256. 4

Question Number : 44 Question Id : 71087013932 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Gaii-1 Dl Tall-11 & 9y GAfera Hiferd foFH a1 Taughe R 3¢ Fid [GUIU g -

gal-| ql-1l
A, HTEE Ao DI JIT HIad

. @M - 3Udg

1. Y IR graer 3R Bl
B. UTGU UN&dd Sk

111, 3Oy Y& e 3R faurad
C. 371 (U1¥1S) OTe d
D. Uieligaii-cs agtb-gad (U 9|1V, TR fid 3R W g
El) SoRdl
=1 fGu e fa®cal § ¥ TEl IR &1 90 ®e

TA-IV,B-1,C-1I,D-1
2ZA-IV,B-1,C-1I,D-1
3A-IV,B-1I,C-1,D-1I
4 A-IV,B-NIL,C-1,D-1
Options :

71087055253. 1
71087055254. 2
71087055255.3
71087055256. 4

Question Number : 45 Question Id : 71087013933 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements, one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Despite increasing vulnerability to natural disasters many communities resist
adopting mitigation programmes and measures

Reason R: Mitigation is often perceived by communities as being incompatible with their
cultural practices

In the light of the above statements, choose the most appropriate answer from the options
given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A
3. A is correct but R is not correct

4. A is not correct but R is correct

Options :

71087055257. 1

71087055258. 2

71087055259. 3

71087055260. 4

Question Number : 45 Question Id : 71087013933 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. (A) 3R (R) THT T8l & 3R (R), (A) P! ol AR 5|

2. (A) ¥R (R) GHI T8I B &R (R), (A) DI Tl SREAT 6l 3|
3. (A) 981 & TR (R) ¥ol T &

4. (A) Bl 61 8 U (R) 9Bl 5|

Options :

71087055257. 1

71087055258. 2

71087055259. 3

71087055260. 4

Question Number : 46 Question Id : 71087013934 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The first open university in India was established in the year

1. 1980

2. 1982

3. 1985

4. 1986
Options :
71087055261. 1
71087055262. 2
71087055263. 3
71087055264. 4



Question Number : 46 Question Id : 71087013934 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1980

1982

1985

1986
Options :
71087055261. 1
71087055262. 2
71087055263. 3
71087055264. 4
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Question Number : 47 Question Id : 71087013935 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Asynchronous communication takes place through which of the following technologies?
A. Teleconferencing

B. Virtual classroom

C. Video chat

D. Blogs

E. Discussion boards

F. Vlog

Choose the correct answer from the options given below:

1. A, B and C only
2. B, Cand D only
3.D, Eand F only
4.C, D and E only
Options :
71087055265. 1
71087055266. 2
71087055267. 3
71087055268. 4

Question Number : 47 Question Id : 71087013935 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Bad A, B 3R C
2. Pad B, C 3R D
3. PAAD, E 3R F
4. H3AC, DIARE
Options :
71087055265. 1
71087055266. 2
71087055267. 3
71087055268. 4

Question Number : 48 Question Id : 71087013936 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Match List | with List 11

List | List Il

Stages of value development Exemplification of value formation

, . Choosing and imbibing the values one
A. Stage | - Value collection ,
cherishes

ll. Observing and imitating the adult
B. Stage Il - Value assessment . .
behaviours, particularly parents

C. Stage Il - Value clarification lIl. Predictability of human behaviour is assured
D. Stage IV - Value consclidation IV. Finding out gaps in values preached and
practice

Choose the correct answer from the options given below:

TA-ILBE-IWV, C-1I,D-I
2ZA-IVB-NIL,C-I,D-1
SA-ILB-1L,C-1V,D-1I
4 A-ILB-ILC-1,D-1IV
Options :

71087055269. 1
71087055270. 2
71087055271. 3
71087055272. 4

Question Number : 48 Question Id : 71087013936 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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TA-LB-IV,C-1I,D-1
2ZA-IV,B-NILC-1,D-1I
3A-ILB-1L,C-1V,D-1I
4 A-ILB-1I,C-1,D-1IV
Options :

71087055269. 1
71087055270. 2
71087055271. 3
71087055272. 4

Question Number : 49 Question Id : 71087013937 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Given below are two statements related to the Upanishadic tradition
Statement I: Paravidya means knowledge that transcends human experience
Statement Il: Aparavidya means knowledge based on the human experience

In light of the above statements, choose the most appropriate answer from the options given

below

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3. Statement | is true but Statement Il is false
4, Statement | is false but Statement Il is true
Options :

71087055273. 1

71087055274. 2

71087055275. 3

71087055276. 4

Question Number : 49 Question Id : 71087013937 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

71087055273. 1
71087055274. 2
71087055275.3
71087055276. 4

Question Number : 50 Question Id : 71087013938 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following Entries of the Indian Constitution deals with coordination and
determination of standards in institutions for higher education or research or scientific and
technical institutions?

1. Entry 63

2. Entry 64

3. Entry €5

4, Entry 66
Options :
71087055277. 1
71087055278. 2
71087055279. 3
71087055280. 4

Question Number : 50 Question Id : 71087013938 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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1. Uidf¥ 63

2. Uidiy 64

3. U4y 65

4. Uiy 66
Options :
71087055277. 1
71087055278. 2
71087055279. 3
71087055280. 4

PART II Spanish
Section Id : 710870294
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 96
Number of Questions to be attempted : 96
Section Marks : 200
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 710870474
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 71087013939 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Es dificil que td una secretaria que todo lo que ta

1. encuentras — sepa - quieres
2. encuentres — sepa — quieres
3. encuentres — sabe — querias
4. encuentres — sabe - quisieras
Options :

71087055281. 1

71087055282. 2

71087055283. 3

71087055284. 4

Question Number : 51 Question Id : 71087013939 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Es dificil que td una secretaria que todo lo que td

1. encuentras — sepa - quieres
2. encuentres — sepa — quieres
3. encuentres — sabe — querias
4. encuentres — sabe - quisieras
Options :

71087055281. 1

71087055282. 2

71087055283. 3

71087055284. 4

Question Number : 52 Question Id : 71087013940 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



:Como es posible que todavia no le el Oscar a ese gran actor?

1. han concedido
2. haya concedido
3. concedieron

4. hayan concedido
Options :
71087055285. 1
71087055286. 2
71087055287. 3
71087055288. 4

Question Number : 52 Question Id : 71087013940 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

:Como es posible que todavia no le el Oscar a ese gran actor?

1. han concedido
2. haya concedido
3. concedieron

4. hayan concedido
Options :
71087055285. 1
71087055286. 2
71087055287. 3
71087055288. 4

Question Number : 53 Question Id : 71087013941 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



La universidad no tiene fondos para renovar la biblioteca, si que celebra su décimo
aniversario.

1. en primer lugar
2. a proposito

3. en cambio

4. en suma
Options :
71087055289. 1
71087055290. 2
71087055291. 3
71087055292. 4

Question Number : 53 Question Id : 71087013941 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
La universidad no tiene fondos para renovar la biblioteca, si que celebra su décimo
aniversario.

1. en primer lugar
2. a proposito

3. en cambio

4, en suma
Options :
71087055289. 1
71087055290. 2
71087055291. 3
71087055292. 4

Question Number : 54 Question Id : 71087013942 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Este es el camino vinimos la dltima vez.

1. donde

2. por el que
3. adonde

4. por donde
Options :
71087055293. 1
71087055294. 2
71087055295. 3
71087055296. 4

Question Number : 54 Question Id : 71087013942 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Este es el camino vinimos la dltima vez.

1. donde

2. por el que
3. addnde

4. por donde
Options :
71087055293. 1
71087055294. 2
71087055295. 3
71087055296. 4

Question Number : 55 Question Id : 71087013943 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



La musica de ese grupo es , la gente baila como si le hubiera aplicado corrientes.

1. electrizante
2. espeluznante
3. descabellado
4, eléctrico
Options :
71087055297. 1
71087055298. 2
71087055299. 3
71087055300. 4

Question Number : 55 Question Id : 71087013943 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

La musica de ese grupo es , la gente baila como si le hubiera aplicado corrientes.

1. electrizante
2. espeluznante
3. descabellado
4, eléctrico
Options :
71087055297. 1
71087055298. 2
71087055299. 3
71087055300. 4

Question Number : 56 Question Id : 71087013944 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Es muy moreno piel.

L
o
]
-

o

con
Options :
71087055301. 1
71087055302. 2
71087055303. 3
71087055304. 4

Question Number : 56 Question Id : 71087013944 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Es muy moreno piel.

1. de

2. por

3.3

4. con
Options :
71087055301. 1
71087055302. 2
71087055303. 3
71087055304. 4

Question Number : 57 Question Id : 71087013945 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



;Cual de las siguientes es fuera de serie?

1. Violaceo

2. Bermejo

3. Carmesi

4, Estentoreo
Options :
71087055305. 1
71087055306. 2
71087055307. 3
71087055308. 4

Question Number : 57 Question Id : 71087013945 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

;Cual de las siguientes es fuera de serie?

1. Violaceo

2. Bermejo

3. Carmesi

4, Estentoreo
Options :
71087055305. 1
71087055306. 2
71087055307. 3
71087055308. 4

Question Number : 58 Question Id : 71087013946 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Si, si, Ernestina es buena mujer, lo que pasa es que me da dolor de cabeza porque habla
hasta

1. a los codos

2. por los codos
3. de los codos
4. para los codos
Options :
71087055309. 1
71087055310. 2
71087055311. 3
71087055312. 4

Question Number : 58 Question Id : 71087013946 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Si, si, Ernestina es buena mujer, lo que pasa es que me da dolor de cabeza porque habla
hasta__

1. a los codos

2. por los codos
3. de los codos
4. para los codos
Options :
71087055309. 1
71087055310. 2
71087055311. 3
71087055312. 4

Question Number : 59 Question Id : 71087013947 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



iQué creido se lo tiene! jNi que el mas inteligente y el mas atractivo de los hombres!

1. fuera

2. esté

3. sea

4, estuviera
Options :
71087055313. 1
71087055314. 2
71087055315.3
71087055316. 4

Question Number : 59 Question Id : 71087013947 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

iQué creido se lo tiene! Ni que el mas inteligente y el mas atractivo de los hombres!

1. fuera

2. esté

3. sea

4, estuviera
Options :
71087055313. 1
71087055314. 2
71087055315.3
71087055316. 4

Question Number : 60 Question Id : 71087013948 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



De repente, una idea para solucionar el problema de las tuberias.

1. ocurrio

2. se ocurrio

3. me ocurriod

4, se me ocurrio
Options :
71087055317. 1
71087055318. 2
71087055319. 3
71087055320. 4

Question Number : 60 Question Id : 71087013948 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

De repente,

una idea para solucionar el problema de las tuberias.

1. ocurrio

2. 58 OCUrrio

3. me ocurrio

4, se me ocurro
Options :
71087055317. 1
71087055318. 2
71087055319. 3
71087055320. 4

Question Number : 61 Question Id : 71087013949 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Escoja la opcion correcta segun el significado de la palabra en negrita:
No seas tan timorata, a ti todo te parece escandaloso.

1. temerosa

2. maliciosa

3. pudorosa

4. avergonzada
Options :
71087055321. 1
71087055322. 2
71087055323. 3
71087055324. 4

Question Number : 61 Question Id : 71087013949 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Escoja la opcion correcta sequn el significado de la palabra en negrita:
No seas tan timorata, a ti todo te parece escandaloso.

1. temerosa

2. maliciosa

3. pudorosa

4. avergonzada
Options :
71087055321. 1
71087055322. 2
71087055323. 3
71087055324. 4



Question Number : 62 Question Id : 71087013950 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Escoja la opcion correcta segun el significado de las palabras en negrita:
Luis termind los deberes a regafiadientes y se marcho.

1. de mala gana
2. muy contento
3. con interés

4, otra vez
Options :
71087055325. 1
71087055326. 2
71087055327. 3
71087055328. 4

Question Number : 62 Question Id : 71087013950 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Escoja la opcion correcta segun el significado de las palabras en negrita:
Luis termind los deberes a regafiadientes y se marcho.

1. de mala gana
2. muy contento
3. con interés

4, otra vez



Options :

71087055325. 1
71087055326. 2
71087055327. 3
71087055328. 4

Question Number : 63 Question Id : 71087013951 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

La falta de y el retraimiento son sintomas mentales muy claros de la

1. memoria - vejez

2. imaginacion - pubertad
3. recuerdos - juventud

4. percepcion - nifiez
Options :

71087055329. 1
71087055330. 2
71087055331. 3
71087055332. 4

Question Number : 63 Question Id : 71087013951 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

La falta de y el retraimiento son sintomas mentales muy claros de la

1. memoria - vejez

2. imaginacion - pubertad
3. recuerdos - juventud

4. percepcion - nifiez
Options :

71087055329. 1



71087055330. 2
71087055331. 3
71087055332. 4

Question Number : 64 Question Id : 71087013952 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Maria esta muy gordita lo poco que come.

1. por

2. contra

3. para

4. de

Options :
71087055333. 1
71087055334. 2
71087055335.3
71087055336. 4

Question Number : 64 Question Id : 71087013952 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Maria esta muy gordita lo poco que come.

1. por

2. contra

3. para

4. de

Options :
71087055333. 1
71087055334.2
71087055335. 3



71087055336. 4

Question Number : 65 Question Id : 71087013953 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Escoja el significado de las palabras en negrita.
Después de las vacaciones de navidad nos hemos quedado a dos velas.

1. sin luz eléctrica
2. sin dinero

3. muy cansados
4, sin velas
Options :
71087055337. 1
71087055338. 2
71087055339. 3
71087055340. 4

Question Number : 65 Question Id : 71087013953 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Escoja el significado de las palabras en negrita.
Después de las vacaciones de navidad nos hemos quedado a dos velas.

1. sin luz eléctrica
2. sin dinero

3. muy cansados
4, sin velas
Options :



71087055337. 1
71087055338. 2
71087055339. 3
71087055340. 4

Question Number : 66 Question Id : 71087013954 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Complete el siguiente refran con la opcion adecuada.
El que a buen arbol se arrima...

1. buenas ramas lo refrescan
2. buena sombra lo cobija

3. buena madera lo protege
4. buen arbol lo refresca
Options :

71087055341. 1

71087055342. 2

71087055343. 3

71087055344. 4

Question Number : 66 Question Id : 71087013954 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Complete el siguiente refran con la opcién adecuada.
El que a buen arbol se arrima...

1. buenas ramas lo refrescan
2. buena sombra lo cobija

3. buena madera lo protege
4, buen arbol lo refresca



Options :

71087055341. 1
71087055342. 2
71087055343. 3
71087055344. 4

Question Number : 67 Question Id : 71087013955 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
:En qué se basaba el nuevo sistema politico implementado por Canovas de Castillo durante |a
Restauracion Borbonica?

1. Un sistema federal

2. El turno pacifico del poder entre dos partidos
3. Un sistema democratico pleno

4. El turno pacifico del poder entre varios partidos
Options :

71087055345. 1

71087055346. 2

71087055347. 3

71087055348. 4

Question Number : 67 Question Id : 71087013955 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
:En qué se basaba el nuevo sistema politico implementado por Canovas de Castillo durante la
Restauracion Borbonica?

1. Un sistema federal

2. El turno pacifico del poder entre dos partidos
3. Un sistema democratico pleno

4. El turno pacifico del poder entre varios partidos



Options :

71087055345. 1
71087055346. 2
71087055347. 3
71087055348. 4

Question Number : 68 Question Id : 71087013956 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

;Cual fue el principal detonante de la crisis financiera que se inicio en 2007 en Espafia?

1. El apoyo a la invasion de Irak por parte del gobierno espariol
2. La privatizacion de servicios publicos

3. El hundimiento del sector inmobiliario

4. Los casos de corrupcion

Options :

71087055349. 1

71087055350. 2

71087055351. 3

71087055352. 4

Question Number : 68 Question Id : 71087013956 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

;Cual fue el principal detonante de la crisis financiera que se inicio en 2007 en Espafia?

1. El apoyo a la invasion de Irak por parte del gobierno espaiiol
2. La privatizacion de servicios publicos

3. El hundimiento del sector inmobiliario

4. Los casos de corrupcion

Options :

71087055349. 1



71087055350. 2
71087055351. 3
71087055352. 4

Question Number : 69 Question Id : 71087013957 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

;Cual fue el legado romano en Hispania?

1. El culto a los dioses romanos, el sistema juridico y el descubrimiento de América

2. El derecho romano, el sistema de regadio agricola de las acequias y la religidn cristiana
3. La lengua latina, el culto a los dioses romanos y el derecho romano

4. La religion cristiana, la lengua espafiola y el sistema juridico romanc

Options :

71087055353. 1

71087055354. 2

71087055355. 3

71087055356. 4

Question Number : 69 Question Id : 71087013957 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

;Cual fue el legado romano en Hispania?

1. El culto a los dioses romanos, el sistema juridico y el descubrimiento de América

2. El derecho romano, el sistema de regadio agricola de las acequias y la religion cristiana
3. La lengua latina, el culto a los dioses romanos y el derecho romano

4. La religion cristiana, la lengua espafiola y el sistema juridico romano

Options :

71087055353. 1

71087055354. 2

71087055355. 3



71087055356. 4

Question Number : 70 Question Id : 71087013958 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

;Queé supuso la llegada al trono espafiol de los Borbones?

1. La unificacion de las dos coronas hispanicas
2. El inicio de la colonizacion

3. La consolidacion del absolutismo monarquico
4. El establecimiento de un sistema autarquico
Options :

71087055357. 1

71087055358. 2

71087055359. 3

71087055360. 4

Question Number : 70 Question Id : 71087013958 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

:Qué supuso la llegada al trono espafiol de los Borbones?

1. La unificacion de las dos coronas hispanicas
2. El inicio de la colonizacion

3. La consolidacion del absolutismo monarquico
4. El establecimiento de un sistema autarquico
Options :

71087055357. 1

71087055358. 2

71087055359. 3

71087055360. 4



Question Number : 71 Question Id : 71087013959 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
La lengua que hablaban los sefardies (los judios espafioles) antes de ser expulsados de la
peninsula es :

1. el provenzal
2. el mozarabe
3. el ladino

4. el guarani
Options :
71087055361. 1
71087055362. 2
71087055363. 3
71087055364. 4

Question Number : 71 Question Id : 71087013959 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
La lengua que hablaban los sefardies (los judios espafioles) antes de ser expulsados de la
peninsula es :

1. el provenzal
2. el mozarabe
3. el ladino

4. el guarani
Options :
71087055361. 1
71087055362. 2
71087055363. 3
71087055364. 4



Question Number : 72 Question Id : 71087013960 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
El siguiente escritor e intelectual escribio la primera gramatica del castellano de América
Latina.

1. Esteban Echevarria

2. José Maria Heredia

3. Andres Bello

4. Domingo Faustino Sarmiento
Options :

71087055365. 1

71087055366. 2

71087055367. 3

71087055368. 4

Question Number : 72 Question Id : 71087013960 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
El siguiente escritor e intelectual escribio la primera gramatica del castellano de América
Latina.

1. Esteban Echevarria

2. José Maria Heredia

3. Andres Bello

4. Domingo Faustino Sarmiento
Options :

71087055365. 1

71087055366. 2

71087055367. 3

71087055368. 4



Question Number : 73 Question Id : 71087013961 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

La siguiente novela latinoamericana trata de la cultura popular y el cine del Hollywood:

1. El tinel

2. La traicion de Rita Hayworth
3. Como agua para chocolate
4. Los detectives salvajes
Options :

71087055369. 1

71087055370. 2

71087055371. 3

71087055372. 4

Question Number : 73 Question Id : 71087013961 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

La siguiente novela latinoamericana trata de la cultura popular y el cine del Hollywood:

1. El tinel

2. La traicion de Rita Hayworth
3. Como agua para chocolate
4. Los detectives salvajes
Options :

71087055369. 1

71087055370. 2

71087055371. 3

71087055372. 4

Question Number : 74 Question Id : 71087013962 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



El aguila y la serpiente de Martin Luis Guzman trata del siguiente perscnaje histérico:

1. Pancho Villa

2. Moctezuma

3. Lope de Aguirre
4. Tipac Amaru
Options :
71087055373. 1
71087055374. 2
71087055375. 3
71087055376. 4

Question Number : 74 Question Id : 71087013962 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

El aguila y la serpiente de Martin Luis Guzman trata del siguiente perscnaje histérico:

1. Pancho Villa

2. Moctezuma

3. Lope de Aguirre
4. Tipac Amaru
Options :
71087055373. 1
71087055374. 2
71087055375. 3
71087055376. 4

Question Number : 75 Question Id : 71087013963 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



La conquista de Chile fue protagonizada por:

1. Diego de Almagro
2. Pedro de Valdivia
3. Francisco Pizarro
4, Bernal Diaz
Options :
71087055377. 1
71087055378. 2
71087055379. 3
71087055380. 4

Question Number : 75 Question Id : 71087013963 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

La conquista de Chile fue protagonizada por:

1. Diego de Almagro
2. Pedro de Valdivia
3. Francisco Pizarro
4, Bernal Diaz
Options :
71087055377. 1
71087055378. 2
71087055379. 3
71087055380. 4

Question Number : 76 Question Id : 71087013964 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



El siguiente libertador protagonizé la independencia de Venezuela y Colombia.

1. El Padre Hidalgo

2. Toussaint L'Ouverture
3. Simon Bolivar

4, Benito Juarez
Options :

71087055381. 1
71087055382. 2
71087055383. 3
71087055384. 4

Question Number : 76 Question Id : 71087013964 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

El siguiente libertador protagonizé la independencia de Venezuela y Colombia.

1. El Padre Hidalgo

2. Toussaint L'Quverture
3. Simon Bolivar

4, Benito Juarez
Options :

71087055381. 1
71087055382. 2
71087055383. 3
71087055384. 4

Question Number : 77 Question Id : 71087013965 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Las tradiciones peruanas de Ricardo Palma es una obra:

1. nacionalista
2. costumbrista
3. realista

4. indigenista
Options :
71087055385. 1
71087055386. 2
71087055387. 3
71087055388. 4

Question Number : 77 Question Id : 71087013965 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Las tradiciones peruanas de Ricardo Palma es una obra:

1. nacionalista
2. costumbrista
3. realista

4. indigenista
Options :
71087055385. 1
71087055386. 2
71087055387. 3
71087055388. 4

Question Number : 78 Question Id : 71087013966 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



"Caminante, son tus huellas/el camino, y nada mas;/caminante no hay camino,/se hace camino
al andar” Estos versos son de:

1. Antonio Machado

2. Miguel de Unamuno

3. Ramon de Campoamor
4. Ramon del Valle-Inclan
Options :

71087055389. 1
71087055390. 2
71087055391. 3
71087055392. 4

Question Number : 78 Question Id : 71087013966 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

"Caminante, son tus huellas/el camino, y nada mas;/caminante no hay camino,/se hace camino
al andar" Estos versos son de:

1. Antonio Machado

2. Miguel de Unamuno

3. Ramoén de Campoamor
4. Ramoén del Valle-Inclan
Options :

71087055389. 1
71087055390. 2
71087055391. 3
71087055392. 4

Question Number : 79 Question Id : 71087013967 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical



Correct Marks : 2 Wrong Marks : 0

El personaje de Mafalda se asocia con:

1. titeres

2. el comic

3. el cine

4. la opera
Options :
71087055393. 1
71087055394. 2
71087055395. 3
71087055396. 4

Question Number : 79 Question Id : 71087013967 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

El personaje de Mafalda se asocia con:

1. titeres

2. el comic

3. el cine

4. la opera
Options :
71087055393. 1
71087055394. 2
71087055395. 3
71087055396. 4

Question Number : 80 Question Id : 71087013968 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



El debate sobre las posibilidades del teatro espafiol de la posguerra tuvo lugar entre y

1. Alfonso Sastre y José de Echegaray

2. Jacinto Benavente y Miguel Mihura

3. Antonio Buero Vallejo y Federico Garcia Lorca
4. Antonio Buero Vallejo y Alfonso Sastre
Options :

71087055397. 1

71087055398. 2

71087055399. 3

71087055400. 4

Question Number : 80 Question Id : 71087013968 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

El debate sobre las posibilidades del teatro espafiol de la posguerra tuvo lugar entre y

1. Alfonso Sastre y José de Echegaray

2. Jacinto Benavente y Miguel Mihura

3. Antonio Buero Vallejo y Federico Garcia Lorca
4. Antonio Buero Vallejo y Alfonso Sastre
Options :

71087055397. 1

71087055398. 2

71087055399. 3

71087055400. 4

Question Number : 81 Question Id : 71087013969 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



El movimiento de mujeres que protestaron las desapariciones llevadas a cabo por la dictadura
en Argentina se llama:

1. Madres de la Plaza de la Republica
2. Hermanas de la Plaza de Belgrano
3. Madres de la Plaza de Mayo

4. Abuelas de las Malvinas

Options :

71087055401. 1

71087055402. 2

71087055403. 3

71087055404. 4

Question Number : 81 Question Id : 71087013969 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
El movimiento de mujeres que protestaron las desapariciones llevadas a cabo por la dictadura
en Argentina se llama:

1. Madres de la Plaza de la Republica
2. Hermanas de la Plaza de Belgrano
3. Madres de la Plaza de Mayo

4. Abuelas de las Malvinas

Options :

71087055401. 1

71087055402. 2

71087055403. 3

71087055404. 4

Question Number : 82 Question Id : 71087013970 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



El siguiente autor es conocido por su serie de aventuras, protagonizadas por el Capitan
Alatriste:

1. Arturo Pérez Reverte

2. Antonio Mufioz Molina

3. Lorenzo Silva

4. Manuel Vasquez Montalban
Options :

71087055405. 1

71087055406. 2

71087055407. 3

71087055408. 4

Question Number : 82 Question Id : 71087013970 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
El siguiente autor es conocido por su serie de aventuras, protagonizadas por el Capitan
Alatriste:

1. Arturo Pérez Reverte

2. Antonio Mufioz Molina

3. Lorenzo Silva

4. Manuel Vasquez Montalban
Options :

71087055405. 1

71087055406. 2

71087055407. 3

71087055408. 4

Question Number : 83 Question Id : 71087013971 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



La siguiente obra de la autora nicaragliense, Gioconda Belli, es conocida como un manifiesto
del feminismo.

1. Waslala

2. La mujer habitada

3. El pais de las mujeres

4. Los pergaminos de la seduccion
Options :

71087055409. 1

71087055410. 2

71087055411. 3

71087055412. 4

Question Number : 83 Question Id : 71087013971 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
La siguiente obra de la autora nicaragliense, Gioconda Belli, es conocida como un manifiesto
del feminismo.

1. Waslala

2. La mujer habitada

3. El pais de las mujeres

4. Los pergaminos de la seduccion
Options :

71087055409. 1

71087055410. 2

71087055411. 3

71087055412. 4

Question Number : 84 Question Id : 71087013972 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



La Seccion Femenina fue:

1. un grupo de mujeres que resistieron la dictadura en Esparia
2. las primeras feministas espariolas

3. una organizacion de mujeres de la Falange espariola

4. una organizacion izquierdista encabezada por Carmen Polo
Options :

71087055413. 1

71087055414. 2

71087055415. 3

71087055416. 4

Question Number : 84 Question Id : 71087013972 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

La Seccion Femenina fue:

1. un grupo de mujeres que resistieron la dictadura en Espanfia
2. las primeras feministas espanolas

3. una organizacion de mujeres de la Falange espariola

4. una organizacion izquierdista encabezada por Carmen Polo
Options :

71087055413. 1

71087055414. 2

71087055415. 3

71087055416. 4

Question Number : 85 Question Id : 71087013973 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



“Nuestra América” de es un llamado a la union entre los pueblos hispanocamericanos,
como una forma de re-apropiacion del nombre Ameérica, distinto de la América anglosajona.

1. José Marti

2. Jose Enrique Rodo

3. Roberto Fernandez Retamar
4. Domingo Faustino Sarmiento
Options :

71087055417. 1

71087055418. 2

71087055419. 3

71087055420. 4

Question Number : 85 Question Id : 71087013973 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
“Nuestra América” de es un llamado a la union entre los pueblos hispancamericanos,
como una forma de re-apropiacion del nombre América, distinto de la América anglosajona.

1. José Marti

2. José Enrique Rodo

3. Roberto Fernandez Retamar
4. Domingo Faustino Sarmiento
Options :

71087055417. 1

71087055418. 2

71087055419. 3

71087055420. 4

Question Number : 86 Question Id : 71087013974 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



El siguiente poeta es uno de los maximos exponentes de la poesia afro-caribefia:

1. Nicolas Guillén
2. José Marti

3. Rubén Dario
4, Juan Gelman
Options :
71087055421. 1
71087055422. 2
71087055423. 3
71087055424. 4

Question Number : 86 Question Id : 71087013974 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

El siguiente poeta es uno de los maximos exponentes de la poesia afro-caribefa:

1. Nicolas Guillén
2. José Marti

3. Rubén Dario
4, Juan Gelman
Options :
71087055421. 1
71087055422. 2
71087055423. 3
71087055424, 4

Question Number : 87 Question Id : 71087013975 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



El tema del exilio figura como tema predominante en las obras de

1. Gabriel Garcia Marquez
2. Carlos Fuentes

3. Jorge Luis Borges

4. Mario Benedetti
Options :

71087055425. 1
71087055426. 2
71087055427. 3
71087055428. 4

Question Number : 87 Question Id : 71087013975 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

El tema del exilio figura como tema predominante en las obras de

1. Gabriel Garcia Marquez
2. Carlos Fuentes

3. Jorge Luis Borges

4. Mario Benedetti
Options :

71087055425. 1
71087055426. 2
71087055427. 3
71087055428. 4

Question Number : 88 Question Id : 71087013976 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



El entierro del Conde de Orgaz es obra de

1. Diego de Velazquez
2. Francisco de Goya

3. El Greco

4. Francisco de Zurbaran
Options :

71087055429. 1
71087055430. 2
71087055431. 3
71087055432. 4

Question Number : 88 Question Id : 71087013976 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

El entierro del Conde de Orgaz es obra de

1. Diego de Velazquez
2. Francisco de Goya

3. El Greco

4. Francisco de Zurbaran
Options :

71087055429. 1
71087055430. 2
71087055431. 3
71087055432. 4

Question Number : 89 Question Id : 71087013977 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



La funcion fatica se cumple en enunciados cuya finalidad es:

1. establecer, prolongar o interrumpir la comunicacion

2. llamar la atencion sobre los aspectos formales del mensaje
3. influir o provocar una respuesta en el receptor

4. tener como objeto el propio codigo

Options :

71087055433. 1

71087055434. 2

71087055435. 3

71087055436. 4

Question Number : 89 Question Id : 71087013977 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

La funcidn fatica se cumple en enunciades cuya finalidad es:

1. establecer, prolongar o interrumpir la comunicacion

2. llamar la atencion sobre los aspectos formales del mensaje
3. influir o provocar una respuesta en el receptor

4. tener como objeto el propio codigo

Options :

71087055433. 1

71087055434. 2

71087055435. 3

71087055436. 4

Question Number : 90 Question Id : 71087013978 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



El concepto de metafrase en la traduccion literaria se define como:

1. la re-traduccion

2. la traduccion literal palabra por palabra
3. la traduccion de terminologia cientifica
4. |la fraseologia de la lengua meta
Options :

71087055437. 1

71087055438. 2

71087055439. 3

71087055440. 4

Question Number : 90 Question Id : 71087013978 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

El concepto de metafrase en la traduccion literaria se define como:

1. la re-traduccion

2. la traduccion literal palabra por palabra
3. la traduccion de terminologia cientifica
4. la fraseclogia de la lengua meta
Options :

71087055437. 1

71087055438. 2

71087055439. 3

71087055440. 4

Question Number : 91 Question Id : 71087013979 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Escoja la opcion con la secuencia cronologica correcta:
A. iberos

B. griegos

C. visigodos

D. musulmanes

E. romanos

1.B,AECD
2 A EBD,C
3EBACD
4.C, A B DE
Options :
71087055441. 1
71087055442. 2
71087055443. 3
71087055444. 4

Question Number : 91 Question Id : 71087013979 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Escoja la opcion con la secuencia cronologica correcta:
A. iberos

B. griegos

C. visigodos

D. musulmanes

E. romanos

1.B,AECD
2 A EBD,C
3EBACD
4.C, A B DE
Options :
71087055441. 1
71087055442. 2
71087055443. 3
71087055444. 4

Question Number : 92 Question Id : 71087013980 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Escoja la opcion con la secuencia cronologica correcta:
A. Altazor de Vicente Huidobro

B. El acoso de Alejo Carpentier

C. Maria de Jorge Isaac

D. Tirana memoria de Horacio Castellanos Moya

1.D,A CB
2.D,ABC
3.A,B,CD
4B, C A D
Options :
71087055445. 1
71087055446. 2
71087055447. 3
71087055448. 4

Question Number : 92 Question Id : 71087013980 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Escoja la opcion con la secuencia cronologica correcta:
A. Altazor de Vicente Huidobro

B. El acoso de Alejo Carpentier

C. Maria de Jorge Isaac

D. Tirana memoria de Horacio Castellanos Moya

1.D,A CB
2.D,ABC
3.A,B,CD
4B, C A D
Options :
71087055445. 1
71087055446. 2
71087055447. 3
71087055448. 4

Question Number : 93 Question Id : 71087013981 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Escoja la opcion con la secuencia cronolégica correcta:

A. El regimen de Porfiric Diaz

B. La revolucién mexicana

C. Lazaro Cardenas y la nacionalizacion del petroleoc mexicano
D. la noche de Tlatelolco

E. La captura de El Chapo Guzman

1.B,A, CD,E
2CABED
3.AB,CDE
4.C, A B DE
Options :

71087055449. 1
71087055450. 2
71087055451. 3
71087055452. 4

Question Number : 93 Question Id : 71087013981 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Escoja la opcion con la secuencia cronolégica correcta:

A. El regimen de Porfiric Diaz

B. La revolucién mexicana

C. Lazaro Cardenas y la nacionalizacion del petroleoc mexicano
D. la noche de Tlatelolco

E. La captura de El Chapo Guzman

1.B,A, CD,E
2CABED
3.AB,CDE
4.C, A B DE
Options :

71087055449. 1
71087055450. 2
71087055451. 3
71087055452. 4

Question Number : 94 Question Id : 71087013982 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Escoja la opcion con la secuencia cronologica correcta:
A. La presidencia de Cristina Kirchner

B. El peronismo

C. El regimen de Neéstor Kirchner

D. La presidencia del Raul Alfonsin

E. La guerra de Malvinas

1.B,D,A CE
2ZEBAD,C
3.AB, CDE
4B EDCA
Options :

71087055453. 1
71087055454. 2
71087055455. 3
71087055456. 4

Question Number : 94 Question Id : 71087013982 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Escoja la opcion con la secuencia cronologica correcta:
A. La presidencia de Cristina Kirchner

B. El peronismo

C. El regimen de Neéstor Kirchner

D. La presidencia del Raul Alfonsin

E. La guerra de Malvinas

1.B,D,A CE
2ZEBAD,C
3.AB, CDE
4B EDCA
Options :

71087055453. 1
71087055454. 2
71087055455. 3
71087055456. 4

Question Number : 95 Question Id : 71087013983 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Escoja la opcion con la secuencia cronolégica correcta:

A. La aparicion del Subcomandante Marcos y la selva chiapaneca
B. el narcotrafico y el cartel de Sinaloa

C. El acuerdo de NAFTA entre México, EEUU y Canada

D. El muro entre Mexico y EEUU

E. La perdida de Texas a EEUU

1.E,D A B C
2ZECABD
3.AB, CDE
4B, C, D EA
Options :

71087055457. 1
71087055458. 2
71087055459. 3
71087055460. 4

Question Number : 95 Question Id : 71087013983 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Escoja la opcion con la secuencia cronolégica correcta:

A. La aparicion del Subcomandante Marcos y la selva chiapaneca
B. el narcotrafico y el cartel de Sinaloa

C. El acuerdo de NAFTA entre México, EEUU y Canada

D. El muro entre Mexico y EEUU

E. La perdida de Texas a EEUU

1.E,D A B C
2ZECABD
3.AB, CDE
4B, C, D EA
Options :

71087055457. 1
71087055458. 2
71087055459. 3
71087055460. 4

Question Number : 96 Question Id : 71087013984 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Escoja la opcion correcta segun el orden cronologico:
A. El Periguillo Sarniento

B. Cecilia

C. Azul

D. Los pasos perdidos

E. Don Segundo Sombra

1.A B CD,E
2 A BCED
3ACBDE
4. A D CBE
Options :

71087055461. 1
71087055462. 2
71087055463. 3
71087055464. 4

Question Number : 96 Question Id : 71087013984 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Escoja la opcion correcta segun el orden cronologico:
A. El Periguillo Sarniento

B. Cecilia

C. Azul

D. Los pasos perdidos

E. Don Segundo Sombra

1.A B CD,E
2 A BCED
3ACBDE
4. A D CBE
Options :

71087055461. 1
71087055462. 2
71087055463. 3
71087055464. 4

Question Number : 97 Question Id : 71087013985 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Escoja la opcion correcta segun el orden cronologico:
A. Fray Luis de Ledn

B. Mariano Jose de Larra

C. José de Espronceda

D. Antonio Murioz Molina

E. Tirso de Molina

1.B,C,EAD
2CEABD
3AOECBD
4. A B, C D, E
Options :
71087055465. 1
71087055466. 2
71087055467. 3
71087055468. 4

Question Number : 97 Question Id : 71087013985 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Escoja la opcion correcta segun el orden cronologico:
A. Fray Luis de Ledn

B. Mariano Jose de Larra

C. José de Espronceda

D. Antonio Murioz Molina

E. Tirso de Molina

1.B,C,EAD
2CEABD
3AOECBD
4. A B, C D, E
Options :
71087055465. 1
71087055466. 2
71087055467. 3
71087055468. 4

Question Number : 98 Question Id : 71087013986 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Escoja la opcion correcta segun el orden cronologico:
A. El cantar de Mio Cid

B. La perfecta casada

C. La vida es suefio

D. El tragaluz

E. El si de las nifias

1. A BCED
2 A B CDE
3.B.CDAE
4B, A CD,E
Options :
71087055469. 1
71087055470. 2
71087055471. 3
71087055472. 4

Question Number : 98 Question Id : 71087013986 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Escoja la opcion correcta segun el orden cronologico:
A. El cantar de Mio Cid

B. La perfecta casada

C. La vida es suefio

D. El tragaluz

E. El si de las nifias

1. A BCED
2 A B CDE
3.B.CDAE
4B, A CD,E
Options :
71087055469. 1
71087055470. 2
71087055471. 3
71087055472. 4

Question Number : 99 Question Id : 71087013987 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Escoja la opcion correcta segun el orden cronologico:
A. Luis de Gongora

B. Gustavo Adolfo Bécquer

C. Antonio Machado

D. Luis Cernuda

E. Joaquin Sabina

1.B,A, CD,E
2.CBADE
3.AB,CDE
4.C, A B DE
Options :
71087055473. 1
71087055474. 2
71087055475. 3
71087055476. 4

Question Number : 99 Question Id : 71087013987 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Escoja la opcion correcta segun el orden cronologico:
A. Luis de Gongora

B. Gustavo Adolfo Bécquer

C. Antonio Machado

D. Luis Cernuda

E. Joaquin Sabina

1.B,A, CD,E
2.CBADE
3.AB,CDE
4.C, A B DE
Options :
71087055473. 1
71087055474. 2
71087055475. 3
71087055476. 4

Question Number : 100 Question Id : 71087013988 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Senale la cronologia correcta de los siguientes métodos:
A. el método tradicional o de ‘gramatica y traduccion’

B. enfoque por tareas

C. el enfoque comunicativo

D. el método estructuro-audiovisual

1.B,ACD
2CBAD
3AD,CB

4. C, A B D
Options :
71087055477. 1
71087055478. 2
71087055479. 3
71087055480. 4

Question Number : 100 Question Id : 71087013988 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Senale la cronologia correcta de los siguientes métodos:
A. el método tradicional o de ‘gramatica y traduccion’

B. enfoque por tareas

C. el enfoque comunicativo

D. el método estructuro-audiovisual

1.B,ACD
2CBAD
3AD,CB

4. C, A B D
Options :
71087055477. 1
71087055478. 2
71087055479. 3
71087055480. 4

Question Number : 101 Question Id : 71087013989 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



;Cuales de las siguientes obras son de Carlos Fuentes?
A. Rayuela

B. El Aleph

C. La guerra del fin del mundo

D. Terra nostra

E. La region mas transparente

1. A

2.B, C

3.D,E

4. A C
Options :
71087055481. 1
71087055482. 2
71087055483. 3
71087055484. 4

Question Number : 101 Question Id : 71087013989 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



;Cuales de las siguientes obras son de Carlos Fuentes?
A. Rayuela

B. El Aleph

C. La guerra del fin del mundo

D. Terra nostra

E. La region mas transparente

1. A

2.B, C

3.D,E

4. A C
Options :
71087055481. 1
71087055482. 2
71087055483. 3
71087055484. 4

Question Number : 102 Question Id : 71087013990 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



;Cuales de las ciudades pertenecen a la cultura maya?
A. Teotihuacan

B. Oaxaca

C. Tikal

D. Uxmal

E. Yucatan

1. A C
2.C,DE
3.B,.C

4. A B
Options :
71087055485. 1
71087055486. 2
71087055487. 3
71087055488. 4

Question Number : 102 Question Id : 71087013990 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



;Cuales de las ciudades pertenecen a la cultura maya?
A. Teotihuacan

B. Oaxaca

C. Tikal

D. Uxmal

E. Yucatan

1. A C
2.C,DE
3.B,.C

4. A B
Options :
71087055485. 1
71087055486. 2
71087055487. 3
71087055488. 4

Question Number : 103 Question Id : 71087013991 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Trilce, Azul, Las alturas de Macchu Picchu son ejemplos del género de
A. Autobiografia

B. Historia

C. Poesia

D. Narrativa

E. Fabula

1T.AyB
2.50lo C
3.56lo D

4 ByE
Options :
71087055489. 1
71087055490. 2
71087055491. 3
71087055492. 4

Question Number : 103 Question Id : 71087013991 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Trilce, Azul, Las alturas de Macchu Picchu son ejemplos del género de
A. Autobiografia

B. Historia

C. Poesia

D. Narrativa

E. Fabula

1T.AyB
2.50lo C
3.56lo D

4 ByE
Options :
71087055489. 1
71087055490. 2
71087055491. 3
71087055492. 4

Question Number : 104 Question Id : 71087013992 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Bartolome de las Casas era

A. gobernador

B. virrey

C. fray

D. poeta

E. defensor de los derechos indigenas

1T.AyB
2.50lo B
3.CyE

4. Solo A
Options :
71087055493. 1
71087055494. 2
71087055495. 3
71087055496. 4

Question Number : 104 Question Id : 71087013992 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Bartolome de las Casas era

A. gobernador

B. virrey

C. fray

D. poeta

E. defensor de los derechos indigenas

1T.AyB
2.50lo B
3.CyE

4. Solo A
Options :
71087055493. 1
71087055494. 2
71087055495. 3
71087055496. 4

Question Number : 105 Question Id : 71087013993 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



;Cuales de las siguientes obras son pre-colombinas?
A. Popol Vuh

B. El cantar de los cantares

C. Cartas de relacion

D. Relacion de las cosas de Yucatan

E. Chilam Balam

1. Solo C
2.AYE
3.56lo D
4.CyD
Options :
71087055497. 1
71087055498. 2
71087055499. 3
71087055500. 4

Question Number : 105 Question Id : 71087013993 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



;Cuales de las siguientes obras son pre-colombinas?
A. Popol Vuh

B. El cantar de los cantares

C. Cartas de relacion

D. Relacion de las cosas de Yucatan

E. Chilam Balam

1. Solo C
2.AYE
3.56lo D
4.CyD
Options :
71087055497. 1
71087055498. 2
71087055499. 3
71087055500. 4

Question Number : 106 Question Id : 71087013994 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



;Cuales de las siguientes obras son consideradas novelas de la tierra?
A. El reino de este mundo

B. El Sefior Presidente

C. La vordgine

D. Don Segundo Sombra

E. Dora Bdrbara

1.AByC
2.ByC
3.CDyE

4 A, B, CyD
Options :
71087055501. 1
71087055502. 2
71087055503. 3
71087055504. 4

Question Number : 106 Question Id : 71087013994 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



;Cuales de las siguientes obras son consideradas novelas de la tierra?
A. El reino de este mundo

B. El Sefior Presidente

C. La vordgine

D. Don Segundo Sombra

E. Dora Bdrbara

1.AByC
2.ByC
3.CDyE

4 A, B, CyD
Options :
71087055501. 1
71087055502. 2
71087055503. 3
71087055504. 4

Question Number : 107 Question Id : 71087013995 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



;Cuales de las siguientes ideas pueden asociarse con la Generacion del '987
A. Sentimiento patriotico

B. La exaltacion de la vida urbana

C. El panamericanismo

D. Pesimismo ante la politica

Escoja la respuesta correcta:

1T.AyB
2.A,ByD
3B, CyD

4 AyD
Options :
71087055505. 1
71087055506. 2
71087055507. 3
71087055508. 4

Question Number : 107 Question Id : 71087013995 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



;Cuales de las siguientes ideas pueden asociarse con la Generacion del '987
A. Sentimiento patriotico

B. La exaltacion de la vida urbana

C. El panamericanismo

D. Pesimismo ante la politica

Escoja la respuesta correcta:

1T.AyB
2.A,ByD
3B, CyD

4 AyD
Options :
71087055505. 1
71087055506. 2
71087055507. 3
71087055508. 4

Question Number : 108 Question Id : 71087013996 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



;Cuales de las siguientes ideas pueden asociarse con la obra de Gabriel Garcia Marquez?
A. Lo extrafio como elemento cotidiano

B. Pretension de verosimilitud

C. Actitud nihilista

D. La exaltacion de la realidad politica de Ameérica Latina

Escoja la respuesta correcta:

1T.AyB
2.A,ByD
3B, CyD

4 A ByC
Options :
71087055509. 1
71087055510. 2
71087055511. 3
71087055512. 4

Question Number : 108 Question Id : 71087013996 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



;Cuales de las siguientes ideas pueden asociarse con la obra de Gabriel Garcia Marquez?
A. Lo extrafio como elemento cotidiano

B. Pretension de verosimilitud

C. Actitud nihilista

D. La exaltacion de la realidad politica de Ameérica Latina

Escoja la respuesta correcta:

1T.AyB
2.A,ByD
3B, CyD

4 A ByC
Options :
71087055509. 1
71087055510. 2
71087055511. 3
71087055512. 4

Question Number : 109 Question Id : 71087013997 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



;Qué caracteristicas tiene el nacionalismo vasco?

A. Trasfondo rural y religioso en su origen

B. Lucha armada durante un periodo del s. XX

C. No estaban a favor de separarse del estado espariol

D. Reivindicacion de los fueros como simbolo de soberania
Escoja la respuesta correcta:

1.AByC
2.ByD
3.AyC

4. A, B, yD
Options :
71087055513. 1
71087055514. 2
71087055515.3
71087055516. 4

Question Number : 109 Question Id : 71087013997 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



;Qué caracteristicas tiene el nacionalismo vasco?

A. Trasfondo rural y religioso en su origen

B. Lucha armada durante un periodo del s. XX

C. No estaban a favor de separarse del estado espariol

D. Reivindicacion de los fueros como simbolo de soberania
Escoja la respuesta correcta:

1.AByC
2.ByD
3.AyC

4. A, B, yD
Options :
71087055513. 1
71087055514. 2
71087055515.3
71087055516. 4

Question Number : 110 Question Id : 71087013998 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



;Qué impacto tuvo el desastre de 1898 en Espafia?

A. Mostro el atraso del pais en comparacion con Europa

B. La corriente regeneracionista emergio para regenerar las colonias
C. La corriente regeneracionista emergio para regenerar Esparia

D. El grupo literario del 98 plasmé el pesimismo del momento
Escoja la respuesta correcta:

T.AyC

2.A B, CyD
3.A,CyD
4B, CyD
Options :
71087055517. 1
71087055518. 2
71087055519. 3
71087055520. 4

Question Number : 110 Question Id : 71087013998 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



;Qué impacto tuvo el desastre de 1898 en Espafia?

A. Mostro el atraso del pais en comparacion con Europa

B. La corriente regeneracionista emergio para regenerar las colonias
C. La corriente regeneracionista emergio para regenerar Esparia

D. El grupo literario del 98 plasmé el pesimismo del momento
Escoja la respuesta correcta:

T.AyC

2.A B, CyD
3.A,CyD
4B, CyD
Options :
71087055517. 1
71087055518. 2
71087055519. 3
71087055520. 4

Question Number : 111 Question Id : 71087013999 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



;Queé reformas se implementaron durante el primer bienio de la Segunda Republica?
A. Jornada laboral de maximo 8 horas

B. Estatutos de Autonomia para regiones con sentimientos nacionalistas

C. Desmilitarizacion del Estado

D. Ensefianza laica, publica, obligatoria y gratuita

Escoja la respuesta correcta:

1.AByD
2.ByC
3.AyC

4 A CyD
Options :
71087055521. 1
71087055522. 2
71087055523. 3
71087055524. 4

Question Number : 111 Question Id : 71087013999 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



;Queé reformas se implementaron durante el primer bienio de la Segunda Republica?
A. Jornada laboral de maximo 8 horas

B. Estatutos de Autonomia para regiones con sentimientos nacionalistas

C. Desmilitarizacion del Estado

D. Ensefianza laica, publica, obligatoria y gratuita

Escoja la respuesta correcta:

1.AByD
2.ByC
3.AyC

4 A CyD
Options :
71087055521. 1
71087055522. 2
71087055523. 3
71087055524. 4

Question Number : 112 Question Id : 71087014000 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



;Quienes apoyaron al régimen franquista?

A. Lalglesia

B. El ejército

C. Las clases altas

D. Algunos paises como Francia, la URSS y México
E. La Falange Esparfiola tradicionalista

Escoja la respuesta correcta:

1.A B CyD
2.A B, CyE
3.B,.C,DyE
4 A CDyE
Options :
71087055525. 1
71087055526. 2
71087055527. 3
71087055528. 4

Question Number : 112 Question Id : 71087014000 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



;Quienes apoyaron al régimen franquista?

A. Lalglesia

B. El ejército

C. Las clases altas

D. Algunos paises como Francia, la URSS y México
E. La Falange Esparfiola tradicionalista

Escoja la respuesta correcta:

1.A B CyD
2.A B, CyE
3.B,.C,DyE
4 A CDyE
Options :
71087055525. 1
71087055526. 2
71087055527. 3
71087055528. 4

Question Number : 113 Question Id : 71087014001 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Los siguientes son rasgos del Modernismo:

A. ruptura con la estética realista

B. recuperacion de los valores sensoriales del verso
C. lenguaje cuidado

D. simbolos irracionalistas e intuitivos

1. A BCD

2. A B C
3.B.C,D

4. A B D
Options :
71087055529. 1
71087055530. 2
71087055531.3
71087055532. 4

Question Number : 113 Question Id : 71087014001 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Los siguientes son rasgos del Modernismo:

A. ruptura con la estética realista

B. recuperacion de los valores sensoriales del verso
C. lenguaje cuidado

D. simbolos irracionalistas e intuitivos

1. A BCD

2. A B C
3.B.C,D

4. A B D
Options :
71087055529. 1
71087055530. 2
71087055531.3
71087055532. 4

Question Number : 114 Question Id : 71087014002 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



La novela realista espafiola tiene los siguientes rasgos:
A. Narrador omnisciente en tercera persona

B. Estructura muy cohesionada

C. Minucicsa descripcion de ambientes y espacios

D. Divagacion intelectual, parecen ensayos dialogados

1.A B D
2. A B C
3.B.C,D
4. A C D
Options :
71087055533. 1
71087055534. 2
71087055535.3
71087055536. 4

Question Number : 114 Question Id : 71087014002 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



La novela realista espafiola tiene los siguientes rasgos:
A. Narrador omnisciente en tercera persona

B. Estructura muy cohesionada

C. Minucicsa descripcion de ambientes y espacios

D. Divagacion intelectual, parecen ensayos dialogados

1.A B D
2. A B C
3.B.C,D
4. A C D
Options :
71087055533. 1
71087055534. 2
71087055535.3
71087055536. 4

Question Number : 115 Question Id : 71087014003 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Las siguientes escritoras ocuparon el mismo espacio y tiempo que la Generacion de 27.
A. Maria Zambrano

B. Emilia Pardo Bazan

C. Maria Teresa Leon

D. Rosa Chacel

1.AByC
2.AyC

3B, CyD

4 A CyD
Options :
71087055537. 1
71087055538. 2
71087055539. 3
71087055540. 4

Question Number : 115 Question Id : 71087014003 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Las siguientes escritoras ocuparon el mismo espacio y tiempo que la Generacion de 27.
A. Maria Zambrano

B. Emilia Pardo Bazan

C. Maria Teresa Leon

D. Rosa Chacel

1.AByC
2.AyC

3B, CyD

4 A CyD
Options :
71087055537. 1
71087055538. 2
71087055539. 3
71087055540. 4

Question Number : 116 Question Id : 71087014004 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Las ultimas colonias que perdio Espafia en el ultramar eran:
A. Cuba

B. Haiti

C. Puerto Rico

D. Marruecos

E. Filipinas

1T.AyB

2.A B, CyE
3.8 CyE

4 A B DyE
Options :
71087055541. 1
71087055542. 2
71087055543. 3
71087055544. 4

Question Number : 116 Question Id : 71087014004 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Las ultimas colonias que perdio Espafia en el ultramar eran:
A. Cuba

B. Haiti

C. Puerto Rico

D. Marruecos

E. Filipinas

1T.AyB

2.A B, CyE
3.8 CyE

4 A B DyE
Options :
71087055541. 1
71087055542. 2
71087055543. 3
71087055544. 4

Question Number : 117 Question Id : 71087014005 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Los siguientes ingredientes son necesarios para el plato mexicano de Mole:
A. Maiz

B. Chocolate

C. Aguacate

D. Tomate

E. Coca

1. So6lo B
2.AyB

3B, CyD

4 A ByC
Options :
71087055545. 1
71087055546. 2
71087055547. 3
71087055548. 4

Question Number : 117 Question Id : 71087014005 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Los siguientes ingredientes son necesarios para el plato mexicano de Mole:
A. Maiz

B. Chocolate

C. Aguacate

D. Tomate

E. Coca

1. So6lo B
2.AyB

3B, CyD

4 A ByC
Options :
71087055545. 1
71087055546. 2
71087055547. 3
71087055548. 4

Question Number : 118 Question Id : 71087014006 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Los siguientes jugaron un papel en la Revolucion Mexicana:
A. Francisco Madero

B. Pancho Villa

C. Emiliano Zapata

D. Luis Echeverria

E. Subcomandante Marcos

1. A B E
2. A B C
3ACE
4.C, D, E
Options :
71087055549. 1
71087055550. 2
71087055551. 3
71087055552. 4

Question Number : 118 Question Id : 71087014006 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Los siguientes jugaron un papel en la Revolucion Mexicana:
A. Francisco Madero

B. Pancho Villa

C. Emiliano Zapata

D. Luis Echeverria

E. Subcomandante Marcos

1. A B E
2. A B C
3ACE
4.C, D, E
Options :
71087055549. 1
71087055550. 2
71087055551. 3
71087055552. 4

Question Number : 119 Question Id : 71087014007 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Los siguientes han contribuido al pensamiento decolonial.
A. Walter Mignolo

B. Enrique Dussel

C. John Womack Junior

D. Hernan Cortés

E. Cristobal Colon

1. A D

2 A B D

3.A B

4.C, D, E
Options :
71087055553. 1
71087055554. 2
71087055555. 3
71087055556. 4

Question Number : 119 Question Id : 71087014007 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Los siguientes han contribuido al pensamiento decolonial.
A. Walter Mignolo

B. Enrique Dussel

C. John Womack Junior

D. Hernan Cortés

E. Cristobal Colon

1. A D

2 A B D

3.A B

4.C, D, E
Options :
71087055553. 1
71087055554. 2
71087055555. 3
71087055556. 4

Question Number : 120 Question Id : 71087014008 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Las siguientes peliculas tratan el tema de la dictadura en |la decada de los 70 y 80 en
Argentina:

A. La historia oficial

B. Gargje Olimpo

C. Babel

D. Amores perros

E. La noche de las lapices

1. A D

2 A B D
3.AByE
4.C, D, E
Options :
71087055557. 1
71087055558. 2
71087055559. 3
71087055560. 4

Question Number : 120 Question Id : 71087014008 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Las siguientes peliculas tratan el tema de la dictadura en |la decada de los 70 y 80 en
Argentina:

A. La historia oficial

B. Gargje Olimpo

C. Babel

D. Amores perros

E. La noche de las lapices

1. A D

2 A B D
3.AByE
4.C, D, E
Options :
71087055557. 1
71087055558. 2
71087055559. 3
71087055560. 4

Question Number : 121 Question Id : 71087014009 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Las siguientes caracteristicas pueden asociarse con la novela social espafiola de los afios 50:
A. personaje colectivo

B. multiples puntos de vista de narracion

C. lo fantastico

D. un trasfondo realista

E. un sentimiento patriotico

1. A D

2 A B D
3.AByE
4.C, D, E
Options :
71087055561. 1
71087055562. 2
71087055563. 3
71087055564. 4

Question Number : 121 Question Id : 71087014009 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Las siguientes caracteristicas pueden asociarse con la novela social espafiola de los afios 50:
A. personaje colectivo

B. multiples puntos de vista de narracion

C. lo fantastico

D. un trasfondo realista

E. un sentimiento patriotico

1. A D

2 A B D
3.AByE
4.C, D, E
Options :
71087055561. 1
71087055562. 2
71087055563. 3
71087055564. 4

Question Number : 122 Question Id : 71087014010 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Los siguientes son rasgos de Lazarillo de Tormes:

A. Multiplicacion de puntos de vista

B. Reelaboracion de motivos folcloricos y tipos reales
C. Anticlericalismo

D. El neoplatonismo

Escoja la respuesta correcta:

1. A BCD

2. A B C
3.B.C,D
4.B,C
Options :
71087055565. 1
71087055566. 2
71087055567. 3
71087055568. 4

Question Number : 122 Question Id : 71087014010 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Los siguientes son rasgos de Lazarillo de Tormes:

A. Multiplicacion de puntos de vista

B. Reelaboracion de motivos folcloricos y tipos reales
C. Anticlericalismo

D. El neoplatonismo

Escoja la respuesta correcta:

1. A BCD

2. A B C
3.B.C,D
4.B,C
Options :
71087055565. 1
71087055566. 2
71087055567. 3
71087055568. 4

Question Number : 123 Question Id : 71087014011 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Los siguientes son aspectos principales de La Celestina:
A. Goce de la vida

B. Personajes complejos

C. Las penas de la vejez

D. Realismo con que refleja la sociedad

Escoja la respuesta correcta:

1. A B C

2B CD
3ACD

4. A B, C D
Options :
71087055569. 1
71087055570. 2
71087055571. 3
71087055572. 4

Question Number : 123 Question Id : 71087014011 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Los siguientes son aspectos principales de La Celestina:
A. Goce de la vida

B. Personajes complejos

C. Las penas de la vejez

D. Realismo con que refleja la sociedad

Escoja la respuesta correcta:

1. A B C

2B CD
3ACD

4. A B, C D
Options :
71087055569. 1
71087055570. 2
71087055571. 3
71087055572. 4

Question Number : 124 Question Id : 71087014012 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Las siguientes formas se incluyen en |la poesia narrativa medieval espaniola:
A. Mester de juglaria

B. Mester de clerecia

C. Cancionero

D. Lirica tradicional

Escoja la respuesta correcta:

1. A B

2. A B C
3.A,B,CD
4.B,C, D
Options :
71087055573. 1
71087055574. 2
71087055575. 3
71087055576. 4

Question Number : 124 Question Id : 71087014012 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Las siguientes formas se incluyen en |la poesia narrativa medieval espaniola:
A. Mester de juglaria

B. Mester de clerecia

C. Cancionero

D. Lirica tradicional

Escoja la respuesta correcta:

1. A B

2. A B C
3.A,B,CD
4.B,C, D
Options :
71087055573. 1
71087055574. 2
71087055575. 3
71087055576. 4

Question Number : 125 Question Id : 71087014013 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Las caracteristicas del vanguardismo son:
A. el antirrealismo

B. el primitivismo

C. el irracionalismo

D. la vocacion minaoritaria

E. el parnasianismo

1.A B CE
2B CDE
3.A,B,CD
4 B,D, CE

Options :

71087055577. 1
71087055578. 2
71087055579. 3
71087055580. 4

Question Number : 125 Question Id : 71087014013 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Las caracteristicas del vanguardismo son:
A. el antirrealismo

B. el primitivismo

C. el irracionalismo

D. la vocacion minaoritaria

E. el parnasianismo

1.A B CE
2B CDE
3.A,B,CD
4 B,D, CE

Options :

71087055577. 1
71087055578. 2
71087055579. 3
71087055580. 4

Question Number : 126 Question Id : 71087014014 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Relacione los elementos de las siguientes listas e indique la pareja correcta:

Lista | Lista Il
A, mudéjares l. judios hispanos
B. mozarabes Il. cristianos que vivian en tierra musulmana
C. nuevos cristianos  [lll. musulmanes que vivian en tierra cristiana
D. sefardies V. cristianos conversos

1. A-l; B-111; C-1V; D-1I
2. A-lI; B-1V; C-11I; D-1
3. A-lI; B-1V; C-1; D-1lI
4. A-l; B-1I; C-11I; D-1V
Options :
71087055581. 1
71087055582. 2
71087055583. 3
71087055584. 4

Question Number : 126 Question Id : 71087014014 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Relacione los elementos de las siguientes listas e indique la pareja correcta:

Lista | Lista Il
A, mudéjares l. judios hispanos
B. mozarabes Il. cristianos que vivian en tierra musulmana
C. nuevos cristianos  [lll. musulmanes que vivian en tierra cristiana
D. sefardies V. cristianos conversos

1. A-l; B-111; C-1V; D-1I
2. A-lI; B-1V; C-11I; D-1
3. A-lI; B-1V; C-1; D-1lI
4. A-l; B-1I; C-11I; D-1V
Options :
71087055581. 1
71087055582. 2
71087055583. 3
71087055584. 4

Question Number : 127 Question Id : 71087014015 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Relacione los elementos de las siguientes listas e indique la pareja correcta:

Lista | Lista Il
A. autobiografia . Pasado perfecto
B. novela policiaca Il. Un dia en la vida
C. novela testimonio Il. Otorio del patriarca
D. novela histarica V. Caramelo

1. A-IV; B-1; C-lI; D-11I
2. A-l; B-1V; C-lI; D-111
3. A-IV; B-II; C-111; D-1
4. A-lll; B-I; C-1V; D-lI
Options :
71087055585. 1
71087055586. 2
71087055587. 3
71087055588. 4

Question Number : 127 Question Id : 71087014015 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Relacione los elementos de las siguientes listas e indique la pareja correcta:

Lista | Lista Il
A. autobiografia . Pasado perfecto
B. novela policiaca Il. Un dia en la vida
C. novela testimonio Il. Otorio del patriarca
D. novela histarica V. Caramelo

1. A-IV; B-1; C-lI; D-11I
2. A-l; B-1V; C-lI; D-111
3. A-IV; B-II; C-111; D-1
4. A-lll; B-I; C-1V; D-lI
Options :
71087055585. 1
71087055586. 2
71087055587. 3
71087055588. 4

Question Number : 128 Question Id : 71087014016 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Relacione los elementos de las siguientes listas e indique la pareja correcta:

Lista | Lista Il
A, Insensatez . Ariel Dorfman
B. La muerte y la doncella Il. Carlos Gamerro
C. Corazon helado IIl. Horacio Castellanos Moya
D. El secreto y las voces IV. Almudena Grandes

1. A-IV; B-IlI; C-1I; D-I
2. A-llI; B-I; C-1V; D-lI
3. A-llI; B-1V; C-1; D-II
4. A-1I; B-I; C-1II; D-IV

Options :

71087055589. 1
71087055590. 2
71087055591. 3
71087055592. 4

Question Number : 128 Question Id : 71087014016 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Relacione los elementos de las siguientes listas e indique la pareja correcta:

Lista | Lista Il
A, Insensatez . Ariel Dorfman
B. La muerte y la doncella Il. Carlos Gamerro
C. Corazon helado IIl. Horacio Castellanos Moya
D. El secreto y las voces IV. Almudena Grandes

1. A-IV; B-IlI; C-1I; D-I
2. A-llI; B-I; C-1V; D-lI
3. A-llI; B-1V; C-1; D-II
4. A-1I; B-I; C-1II; D-IV

Options :

71087055589. 1
71087055590. 2
71087055591. 3
71087055592. 4

Question Number : 129 Question Id : 71087014017 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Relacione los elementos de las siguientes listas e indique la pareja correcta:

Lista | Lista Il
A. El burlador de Sevilla . Calderon de la Barca
B. Fuenteovejuna ll. Lope de Vega
C. Los tratos de Argel lIl. Tirso de Molina
D. La vida es suefio V. Miguel de Cervantes

1. A-IV; B-IlI; C-1I; D-I
2. A-IV; B-I; C-1I; D-11
3. A-lII; B-11; C-1V; D-I
4. A-ll; B-III; C-1; D-1V

Options :

71087055593. 1
71087055594. 2
71087055595. 3
71087055596. 4

Question Number : 129 Question Id : 71087014017 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Relacione los elementos de las siguientes listas e indique la pareja correcta:

Lista | Lista Il
A. El burlador de Sevilla . Calderon de la Barca
B. Fuenteovejuna ll. Lope de Vega
C. Los tratos de Argel lIl. Tirso de Molina
D. La vida es suefio V. Miguel de Cervantes

1. A-IV; B-IlI; C-1I; D-I
2. A-IV; B-I; C-1I; D-11
3. A-lII; B-11; C-1V; D-I
4. A-ll; B-III; C-1; D-1V

Options :

71087055593. 1
71087055594. 2
71087055595. 3
71087055596. 4

Question Number : 130 Question Id : 71087014018 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Relacione los elementos de las siguientes listas e indique la pareja correcta:

Lista | Lista Il
A. Poeta en Nueva York . Rafael Alberti
B. Marinero en tierra Il. Miguel Hernandez
C. La realidad y el deseo lIl. Federico Garcia Lorca
D. El rayo que no cesa V. Luis Cernuda

1. A-1; B-111; C-II; D-IV
2. A-llI; B-I; C-1V; D-lI
3. A-IV; B-II; C-111; D-1
4. A-I; B-1I; C-IV; D-11I

Options :

71087055597. 1
71087055598. 2
71087055599. 3
71087055600. 4

Question Number : 130 Question Id : 71087014018 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Relacione los elementos de las siguientes listas e indique la pareja correcta:

Lista | Lista Il
A. Poeta en Nueva York . Rafael Alberti
B. Marinero en tierra Il. Miguel Hernandez
C. La realidad y el deseo lIl. Federico Garcia Lorca
D. El rayo que no cesa V. Luis Cernuda

1. A-1; B-111; C-II; D-IV
2. A-llI; B-I; C-1V; D-lI
3. A-IV; B-II; C-111; D-1
4. A-I; B-1I; C-IV; D-11I

Options :

71087055597. 1
71087055598. 2
71087055599. 3
71087055600. 4

Question Number : 131 Question Id : 71087014019 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Relacione los elementos de las siguientes listas e indique la pareja correcta:

Lista | Lista I
A. Garcilaso de la Vega . Las moradas
B. San Juan de la Cruz l. La perfecta casada
C. Santa Teresa de Avila lIl. “Las eglogas”
D. Fray Luis de Ledn I\VV. Noche oscura del alma

1. A-II; B-1V; C-lII; D-I
2. A-Ill; B-1V; C-1; D-II
3. A-IV; B-III; C-11; D-1
4. A-lll; B-II; C-1V; D-1
Options :
71087055601. 1
71087055602. 2
71087055603. 3
71087055604. 4

Question Number : 131 Question Id : 71087014019 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Relacione los elementos de las siguientes listas e indique la pareja correcta:

Lista | Lista I
A. Garcilaso de la Vega . Las moradas
B. San Juan de la Cruz l. La perfecta casada
C. Santa Teresa de Avila lIl. “Las eglogas”
D. Fray Luis de Ledn I\VV. Noche oscura del alma

1. A-II; B-1V; C-lII; D-I
2. A-Ill; B-1V; C-1; D-II
3. A-IV; B-III; C-11; D-1
4. A-lll; B-II; C-1V; D-1
Options :
71087055601. 1
71087055602. 2
71087055603. 3
71087055604. 4

Question Number : 132 Question Id : 71087014020 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Relacione los elementos de las siguientes listas e indique la pareja correcta:

Lista | Lista Il
A, Juan Valera l. La Regenta
B. Fernan Caballero Il. Los pazos de Ulloa
C. Emilia Pardo Bazan Il. La Gaviota
D. Leopoldo Alas Clarin V. Pepita Jiménez

1. A-IV, B-II, C-lII, D-I
2. A-lll, B-1V, C-11, D-I
3. A-IV, B-lII, C-11, D-I
4. A-ll, B-I, C-1V, D-III

Options :

71087055605. 1
71087055606. 2
71087055607. 3
71087055608. 4

Question Number : 132 Question Id : 71087014020 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Relacione los elementos de las siguientes listas e indique la pareja correcta:

Lista | Lista Il
A, Juan Valera l. La Regenta
B. Fernan Caballero Il. Los pazos de Ulloa
C. Emilia Pardo Bazan Il. La Gaviota
D. Leopoldo Alas Clarin V. Pepita Jiménez

1. A-IV, B-II, C-lII, D-I
2. A-lll, B-1V, C-11, D-I
3. A-IV, B-lII, C-11, D-I
4. A-ll, B-I, C-1V, D-III

Options :

71087055605. 1
71087055606. 2
71087055607. 3
71087055608. 4

Question Number : 133 Question Id : 71087014021 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Relacione los elementos de las siguientes listas e indique la pareja correcta:

Lista I Lista Il
A La fuerza de la sangre .. Marido cornudo
B. Don Juan Tenorio Il. Amores cruzados
C. La Celestina (Calisto y Melibea) 1. Violacidn
D. El celoso extremerio IV. Seduccion

1. A-l, B-1I1, C-II, D-IV
2. A-lll, B-1V, C-11, D-I
3. A-ll, B-l, C-1II, D-1V
4. A-IV, B-llI, C-1, D-II

Options :

71087055609. 1
71087055610. 2
71087055611. 3
71087055612. 4

Question Number : 133 Question Id : 71087014021 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Relacione los elementos de las siguientes listas e indique la pareja correcta:

Lista I Lista Il
A La fuerza de la sangre .. Marido cornudo
B. Don Juan Tenorio Il. Amores cruzados
C. La Celestina (Calisto y Melibea) 1. Violacidn
D. El celoso extremerio IV. Seduccion

1. A-l, B-1I1, C-II, D-IV
2. A-lll, B-1V, C-11, D-I
3. A-ll, B-l, C-1II, D-1V
4. A-IV, B-llI, C-1, D-II

Options :

71087055609. 1
71087055610. 2
71087055611. 3
71087055612. 4

Question Number : 134 Question Id : 71087014022 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Relacione los elementos de las siguientes listas e indique la pareja correcta:

Lista | Lista Il
A. Tener pajaros en la cabeza .. No tener sentido
B. Estar hasta las narices Il. Hacerse el despistado
C. No tener ni pies ni cabeza lIl. Estar harto
D. Hacer la vista gorda V. Ser sofiador

1. A-lll, B-1I, C-I, D-IV
2. A-IV, B-1, C-lII, D-II
3. A-ll, B-lIL, C-I, D-1IV
4. A-IV, B-llI, C-1, D-II

Options :

71087055613. 1
71087055614. 2
71087055615. 3
71087055616. 4

Question Number : 134 Question Id : 71087014022 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Relacione los elementos de las siguientes listas e indique la pareja correcta:

Lista | Lista Il
A. Tener pajaros en la cabeza .. No tener sentido
B. Estar hasta las narices Il. Hacerse el despistado
C. No tener ni pies ni cabeza lIl. Estar harto
D. Hacer la vista gorda V. Ser sofiador

1. A-lll, B-1I, C-I, D-IV
2. A-IV, B-1, C-lII, D-II
3. A-ll, B-lIL, C-I, D-1IV
4. A-IV, B-llI, C-1, D-II

Options :

71087055613. 1
71087055614. 2
71087055615. 3
71087055616. 4

Question Number : 135 Question Id : 71087014023 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Relacione los elementos de las siguientes listas e indique la pareja correcta:

Lista | Lista Il
A La Maga . La region mds transparente
B. Remedios |a Bella Il. Pedro Paramo
C. Ixca Cienfuegos IIl. Cien afios de Soledad
D. Juan Preciado V. Rayuela

1. A-l, B-1V, C-lII, D-I
2. A-lll, B-II, C-I, D-1V
3. A-IV, B-llI, C-1, D-lI
4. A-lll, B-1, C-1V, D-II

Options :

71087055617. 1
71087055618. 2
71087055619. 3
71087055620. 4

Question Number : 135 Question Id : 71087014023 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Relacione los elementos de las siguientes listas e indique la pareja correcta:

Lista | Lista Il
A La Maga . La region mds transparente
B. Remedios |a Bella Il. Pedro Paramo
C. Ixca Cienfuegos IIl. Cien afios de Soledad
D. Juan Preciado V. Rayuela

1. A-l, B-1V, C-lII, D-I
2. A-lll, B-II, C-I, D-1V
3. A-IV, B-llI, C-1, D-lI
4. A-lll, B-1, C-1V, D-II

Options :

71087055617. 1
71087055618. 2
71087055619. 3
71087055620. 4

Question Number : 136 Question Id : 71087014024 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
;Vas a reservar habitacion en ese hotel?
Si, a no ser que muy alejado del centro de la ciudad.

1. estaria

2. esté

3. haya estado
4. esta
Options :



71087055621. 1
71087055622. 2
71087055623. 3
71087055624. 4

Question Number : 136 Question Id : 71087014024 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
;Vas a reservar habitacién en ese hotel?
Si, a no ser que muy alejado del centro de la ciudad.

1. estaria

2. esté

3. haya estado
4, esta
Options :
71087055621. 1
71087055622. 2
71087055623. 3
71087055624. 4

Question Number : 137 Question Id : 71087014025 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



;Vas a salir en el puente de mayo?
No creo porque no encuentro a nadie que a mi perro.

1. cuidara

2. cuidara

3. cuida

4, cuide
Options :
71087055625. 1
71087055626. 2
71087055627. 3
71087055628. 4

Question Number : 137 Question Id : 71087014025 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

:Vas a salir en el puente de mayo?
No creo porque no encuentro a nadie que a mi perro.

1. cuidara

2. cuidara

3. cuida

4, cuide
Options :
71087055625. 1
71087055626. 2
71087055627. 3
71087055628. 4



Question Number : 138 Question Id : 71087014026 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Alfredo arquitecto después de mucho esfuerzo.

1. se convirtio
2. se volvio

3. se hizo

4, hizo
Options :
71087055629. 1
71087055630. 2
71087055631. 3
71087055632. 4

Question Number : 138 Question Id : 71087014026 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Alfredo arquitecto despues de mucho esfuerzo.

1. se convirtio
2. se volvio

3. se hizo

4, hizo
Options :
71087055629. 1
71087055630. 2
71087055631. 3
71087055632. 4

Question Number : 139 Question Id : 71087014027 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

iQué raro! Tu hermano no coge el teléfono.
. todavia este durmiendo. Los sabados se levanta tarde.

1. Igual

2. Puede que
3. A lo mejor
4, Seguro que
Options :
71087055633. 1
71087055634. 2
71087055635. 3
71087055636. 4

Question Number : 139 Question Id : 71087014027 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

iQué raro! Tu hermano no coge el teléfono.
» todavia esté durmiendo. Los sabados se levanta tarde.

1. Igual

2. Puede que
3. A lo mejor
4, Seguro que
Options :
71087055633. 1
71087055634. 2
71087055635. 3



71087055636. 4

Question Number : 140 Question Id : 71087014028 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Este nifio lo entiende todo, pero hace no comprende.

1. como

2. como si

3. como gue
4. si

Options :
71087055637. 1
71087055638. 2
71087055639. 3
71087055640. 4

Question Number : 140 Question Id : 71087014028 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Este nifio lo entiende todo, pero hace no comprende.

1. como

2. como si

3. como que
4. si

Options :
71087055637. 1
71087055638. 2
71087055639. 3
71087055640. 4



Sub-Section Number : 2
Sub-Section Id : 710870475
Question Shuffling Allowed : Yes

Question Id : 71087014029 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension

Lea el texto y responda a las 5 preguntas dadas con la opcion correcta:

Cuando se dice que una imagen vale mas que mil palabras se quiere decir que la imagen llega
mas rapido, la captacion es instantanea, mientras que leer un texto de mil palabras, cualquiera
que sea, requiere de otro tiempo, una pausa.

El lenguaje tiene su propia temporalidad; mas bien es el lenguaje el que define nuestra
experiencia de la temporalidad, no solo porque la tematiza y la encarna en la conjugacion de
los verbos, sino porque impone su propia duracion al usarlo. Para estar a la altura de la
velocidad de circulacion de las nuevas tecnologias, habria que abandonar las palabras y pasar
a un lenguaje inventado, hecho de nimeros y notaciones matematicas. Entonces si quiza
estariamos a la altura de las maquinas rapidas. Pero es imposible sustituir el lenguaje, todo
esperanto es comico. El sistema de abreviaciones taquigraficas del twitter y de los mensajes de
texto acelera la escritura pero no el tiempo de lectura; se deben reponer las letras que faltan -
y reconstruir su desolada sintaxis — para comprender el sentido.

Adaptado de Diarios de Emilio Renzi | de Ricardo Piglia

Sub questions

Question Number : 141 Question Id : 71087014030 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Segun el texto la imagen seduce mas porque:

1. nos llega subitamente
2. es temporal

3. nos resulta ligera

4. nos parece efimera
Options :

71087055641. 1
71087055642. 2
71087055643 3
71087055644. 4

Question Number : 142 Question Id : 71087014031 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Segun el texto, el lenguaje define nuestra experiencia de la temporalidad porgue:

1. tardamos mucho en aprender lenguas

2. no podemos concebir un nuevo lenguaje

3. ya hemos inventado un lenguaje que no necesita palabras

4. la experiencia vital no puede ser expresada fuera del lenguaje
Options :

71087055645. 1

71087055646. 2

71087055647. 3

71087055648. 4

Question Number : 143 Question Id : 71087014032 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Segun el texto, el sistema de abreviaciones usado en mensajes de texto y tuits:

1. estira el tiempo de la escritura
2. acelera el tiempo de la lectura
3. abrevia el tiempo de la lectura
4. acelera el tiempo de la escritura
Options :

71087055649. 1

71087055650. 2

71087055651. 3

71087055652. 4

Question Number : 144 Question Id : 71087014033 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
En el texto, la frase “estar a la altura”, significa:

1. preservar

2. mantenerse al dia
3. alterar

4, elevarse

Options :
71087055653. 1
71087055654. 2
71087055655. 3
71087055656. 4

Question Number : 145 Question Id : 71087014034 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Segun el texto, el esperanto es comico porque:

1. nos hace reir

2. impone su propia duracion

3. el lenguaje no se puede suplantar

4. |a falta de palabras facilita la comprensian
Options :

71087055657. 1

71087055658. 2

71087055659. 3

71087055660. 4

Question Id : 71087014029 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension



Lea el texto y responda a las 5 preguntas dadas con la opcion correcta:

Cuando se dice que una imagen vale mas que mil palabras se quiere decir que la imagen llega
mas rapido, la captacion es instantdnea, mientras que leer un texto de mil palabras, cualquiera
que sea, requiere de otro tiempo, una pausa.

El lenguaje tiene su propia temporalidad; mas bien es el lenguaje el que define nuestra
experiencia de la temporalidad, no solo porque la tematiza y la encarna en la conjugacion de
los verbos, sino porque impone su propia duracion al usarlo. Para estar a la altura de la
velocidad de circulacion de las nuevas tecnologias, habria que abandonar las palabras y pasar
a un lenguaje inventado, hecho de ndmeros y notaciones matematicas. Entonces si quiza
estariamos a la altura de las maquinas rapidas. Pero es imposible sustituir el lenguaje, todo
esperanto es comico. El sistema de abreviaciones taquigraficas del twitter y de los mensajes de
texto acelera la escritura pero no el tiempo de lectura; se deben reponer las letras que faltan -
y reconstruir su desolada sintaxis — para comprender el sentido.

Adaptado de Diarios de Emilio Renzi | de Ricardo Piglia

Sub questions

Question Number : 141 Question Id : 71087014030 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Segun el texto la imagen seduce mas porque:

1. nos llega subitamente
2. es temporal

3. nos resulta ligera

4. nos parece efimera
Options :

71087055641. 1
71087055642. 2
71087055643. 3
71087055644. 4

Question Number : 142 Question Id : 71087014031 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Segun el texto, el lenguaje define nuestra experiencia de la temporalidad porque:

1. tardamos mucho en aprender lenguas

2. no podemos concebir un nuevo lenguaje

3. ya hemos inventado un lenguaje que no necesita palabras

4. la experiencia vital no puede ser expresada fuera del lenguaje
Options :

71087055645. 1

71087055646. 2

71087055647. 3

71087055648. 4

Question Number : 143 Question Id : 71087014032 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Segun el texto, el sistema de abreviaciones usado en mensajes de texto y tuits:

1. estira el tiempo de la escritura
2. acelera el tiempo de la lectura
3. abrevia el tiempo de la lectura
4. acelera el tiempo de la escritura
Options :

71087055649. 1

71087055650. 2

71087055651. 3

71087055652 4

Question Number : 144 Question Id : 71087014033 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

En el texto, la frase "estar a la altura”, significa:

1. preservar

2. mantenerse al dia
3. alterar

4, elevarse

Options :
71087055653. 1
71087055654. 2
71087055655. 3
71087055656. 4

Question Number : 145 Question Id : 71087014034 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Segun el texto, el esperanto es comico porque:

1. nos hace reir

2. impone su propia duracion

3. el lenguaje no se puede suplantar

4. |a falta de palabras facilita la comprensian
Options :

71087055657. 1

71087055658. 2

71087055659. 3

71087055660. 4

Sub-Section Number : 3
Sub-Section Id : 710870476
Question Shuffling Allowed : Yes

Question Number : 146 Question Id : 71087014035 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Escoja la opcion correcta para la palabra en negrita.
Al verlo después de tantos afios me parecio bastante decrépito, jquién lo iba a imaginar!

1. deteriorado
2. atractivo

3. calvo

4. galan
Options :
71087055661. 1
71087055662. 2
71087055663. 3
71087055664. 4



Question Number : 146 Question Id : 71087014035 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Escoja la opcion correcta para la palabra en negrita.
Al verlo después de tantos afios me parecio bastante decrépito, jquién lo iba a imaginar!

1. deteriorado
2. atractivo

3. calvo

4. galan
Options :
71087055661. 1
71087055662. 2
71087055663. 3
71087055664. 4

Question Number : 147 Question Id : 71087014036 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

La facultad de pensar es la razon; la actitud emocional que corresponda a la razén es la

1. objetivamente — humildad

2. coherentemente - incredulidad
3. generosamente - autoconfianza
4. friamente - autarquia

Options :

71087055665. 1

71087055666. 2



71087055667. 3
71087055668. 4

Question Number : 147 Question Id : 71087014036 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

La facultad de pensar es la razon; la actitud emocional que corresponda a la razon es la

1. objetivamente — humildad

2. coherentemente - incredulidad
3. generosamente - autoconfianza
4. friamente - autarquia

Options :

71087055665. 1

71087055666. 2

71087055667. 3

71087055668. 4

Question Number : 148 Question Id : 71087014037 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

El infierno esta lleno de buenos deseos vy ......

1. malas intenciones el cielo.

2. de buenas intenciones ¢l cielo.
3. de buenas obras el cielo.

4, de malas obras del cielo.
Options :

71087055669. 1

71087055670. 2



71087055671. 3
71087055672. 4

Question Number : 148 Question Id : 71087014037 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

El infierno esta lleno de buenos deseos y ......

1. malas intenciones el cielo.

2. de buenas intenciones el cielo.
3. de buenas obras el cielo.

4, de malas obras del cielo.
Options :

71087055669. 1

71087055670. 2

71087055671. 3

71087055672. 4

Question Number : 149 Question Id : 71087014038 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Relacione los elementos de las siguientes listas e indique la pareja correcta:

Lista | Lista Il
A Vivir l. como un galgo
B. Crecer Il. como churros
C. Vender algo lll. como un cura
D. Correr IV. como hongos

1. A-lll, B-1V, C-lI, D-I
2. A-ll, B-1ll, C-1V, D-I
3. A-IV, B-llI, C-1, D-1I
4. A-l, B-1l, C-1II, D-1V
Options :
71087055673. 1
71087055674. 2
71087055675. 3
71087055676. 4

Question Number : 149 Question Id : 71087014038 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0



Relacione los elementos de las siguientes listas e indique la pareja correcta:

Lista | Lista Il
A Vivir l. como un galgo
B. Crecer Il. como churros
C. Vender algo lll. como un cura
D. Correr IV. como hongos

1. A-lll, B-1V, C-lI, D-I
2. A-ll, B-1ll, C-1V, D-I
3. A-IV, B-llI, C-1, D-1I
4. A-l, B-1l, C-1II, D-1V
Options :
71087055673. 1
71087055674. 2
71087055675. 3
71087055676. 4

Question Number : 150 Question Id : 71087014039 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Escoja el significado de las palabras en negrita.

Es una de esas personas que pierde los estribos por cualquier cosa.

1. se deprime

2. se burla

3. se critica

4. pierde el control



Options :

71087055677. 1
71087055678. 2
71087055679. 3
71087055680. 4

Question Number : 150 Question Id : 71087014039 Question Type : MCQ Option Shuffling : No Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Escoja el significado de las palabras en negrita.
Es una de esas personas que pierde los estribos por cualquier cosa.

1. se deprime

2. se burla

3. se critica

4. pierde el control
Options :
71087055677. 1
71087055678. 2
71087055679. 3
71087055680. 4



